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(A)

‘-'l'

(x=1)"

iB)

. [
(x-1)°

i)

'L'r
(x—3)

(1)

3 | L +C

e
(A) log {e* + &) (B)
{(C) tan™' (&™) (D)

34 Iﬁin"xd&:;
]
{A) O (B)
Ly ==1 (D)

YPH(M) (New) 10

(- 510

T &Y

2 (log s 1)

2x Iu::g[i]
E

log (&* —&)

tar (&)




35)

da)

L))

I
(A) O (B) 3 A
. S |
© 373 @ 33
} el
»1+eotx =
3 4
(A) & (B) 3
y X =
i) 12 ([3) 2

‘ﬂﬁ}-nuns.tqﬂ' I=—%3ﬂ11=nﬁ'ﬁﬂ?mm

_ whimmm R
(A) 3 (B) |

C) 2 (D)

I |t

¥

j 38) 1—E+%=lﬁﬁiiﬁtmém i 3o B
{A) 144a
(B) 12=
(C) &m
(D) Tix
YPH{D6) (New) 11
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39) =W 2 =4y, Y- 3y = 3 g o e e deee T w1
= gaTd 71
B 9
(A) 2 (B) 2
Q &
(C) 3 (D) -
40) I wiEm
£y (Y i
F-T! !LI tl
e Jek e - |41=10
[ir’} +[:ix] +m5[d‘r] I #+ g™ #
(A) 5 (B) 2
(C) 1 (DY) e = )
41) yvrEe B sec’ x tan v dx + sec’ v tan x dy = () &1 =0H
- . -
(A) anx=tny=C (B unx+tany=C
(C) tanxtan y=C (D) tanzxcoty=C

42) st 12 W T s wdvee o fafine ge § Tofem e

R AEn #1
(A) 4 (B) 2
(Cy 1 Dy 0O

43) -q&{g; +ﬁ.j+E?E;]u{f-yAj’+;ai}={:ﬂﬂ}.+p=

21 23
(A) T3 (B} El
33
) = (Dy 33

YIPH{DG) (New) 12
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44) PmmuaRm G=2i - j+ 26 oM b=wis j-F, & Pmafm| T

i+ b IR 2w awn wfEm #
(A) [+ (B) i+]
(C) §F+2)+k D ik

45) aRwlEw o M EoREE: I ImIG T G h=1 T
g smhwEdawmEm R

(A) % (B)

| 5

: b
(C) 3 (D)

N

46) ofy i AR A M (i -d) (v +a) =8 A, 3] = ]

(A) -3 (B) J7

) 9 (Dy 3

47) wiem (- jwwfm . jwwEe ¥

1
(A) -1 (B} ;,t;

) 0 (o) 1

YPH{06) (New) 13 (P10




48) @.h 3N i-b wEEEN AT ¥R 5 SdEEEw R
HFIEI:‘I.?HH: .

(A)

= |H

o =
L) 3

49) T

Fi'ﬂff,ﬁ"pmﬂr-'l

N 0
(A) T

(C) 10

s0) Famg (5.2,-4) # A o et ot 2,3 | o s e Ten R

T WA ) ETE A HHET #l

(A) Zx-y+2=12
(B) 2x4+3y-z2=12
(C) Za+p-z=20

D) x+p+z=20

YPH(06) (New)
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050 (H)
(MLAY, 2021)
SCIENCE STREAM
(CLASS - XII)
(Mew Conrse)
(Part - B)
Time @ 2 Hoursf IMaximum Marks : 50
e
1) EeEe W e fafn)
2) wATEE Part-BAdREmE s a7 wmm i
i 3) oo P st § o e v o s Freen i v 3
4) =R s v & o )
5)  an favm v w0 o fef)
6) w w wET wEE Eife|
7)  uf? weh gen /i wm Femee 3 A (Log Table) & Toaim & sewd 6 =
2l
8) thew g & wee o s o w Igam i)
foram - A
m R momers 1A 124939 el 8 ol = oo AR (m = A
& 2 sim ) [16]
1) fag & i
: acosxy —-hsinx |
= [hcnsmmmxl __fqﬁ Bt 2
: [ ) "
2) sin| 21 El ccrs.{l.;m ﬁ]}ﬁl‘ﬂﬂmﬁlﬁql 12]
. ey log x
3 Al JeperEs =
) W mﬁﬁqmﬁ# (1+1logx) 12l
I E
jJ{x—mx—zr % 3m BBy 12l

YPH{0G) (New) 15 (F.1.0.)
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5) mmEmEmE =4y, 0= 2,0 = 4 T Y-30 i o e R (2]

6) TR 1 TOAm w0k W O 4 )7 = 16 g Y dm w g wm St (2]
7) J.-=1-ﬂsirrEi._‘r'=bcﬂszi}mmﬁmﬂﬁ=%MMﬂ
e A i) [2]

8) i il AC1L1.2), B(2,3.5) 3 C(1.5,5) @@ g wm gt s ) (21

g9y fag (1.2.4) § & A awh w3 I;E=J::§F=:—?lﬂ LU
1115 =_u-—EE*} 3 :;5 # Fra § UE T @ afEe e A it 2]

I0) 38 "aAw @ AT we Eee W EeEeE 3x - ¢ + 20— 4 = 0 3R

X+ y+ -2 = 0o wiree e faeg (2,2.1) R g T R 12]
1) = Fom e § o o ol e o e e fe=-foe ) e senadi W
=m 4 # $t mitEm 7 Fifsm 12]

12) afs A ain B Fredte geand i i firg Fifem B A 3 B oft Frde wzmd 21 121

foam - B

m  J R ooy w138 21 | R Rl 6wl woaw @R (R v ae
% 3 3w §) [18]

f*s=hﬂ*mr=1;.-mﬁn=a—{§}.n=n-[_} [3]

YPH(D6) (New) 16
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”ﬂﬁxlzs_—?-«a-ﬂﬁt £ 3

) 45 6] |2 4 ﬁJ'mmxm : 131
cosx -sinx 0]

15) 3R F(x)=|sinx cosx 0@, Mewlsd Fix)-Fol=Fix+y) 13]
0 ] 1

16) ¥y = 1 @A 5 ) 13]

17) @K y =3 - 2x + 7 & 0080 20 — y + § = (% wuim oyis = aeie Jm
difam) 13]

18) Fot v i wfew b, wPmaR G+ b4 o =0 o fa =1, [p|=4.[¢|=2
AW b+ b-C+0-a T aE E S 3]

19) 3 E.1;-+]=_r+1=:1-1 B I—3=_‘|'—5:IIT % fa B -

7 =& ] | -2
IR A 131
20) e @ e e dnmem & v W e o 8@ 5w S 13

£ =200x + 500y

1 i & YA W AR S 5 A i)
x+2p=10

Ix+d4p <24

220,210

21) T U Y TOTE A g W U W 6 W B # T w A, s e o
W 2 UrH §iH R gEen B e W Al uee A 3 B o P wia Fifm) 13]
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fEmm - C

o falt e v w22 ® 27 @ @ feell 4wl = oam fifm (R oo e

% 4 7w §) |16]
- S G

17) AR A=|2 1 3[@@A—5A+61 e 4]
1 -1 0]
x+y+2z X ¥

23) g difm| - y4z+2x ¥y |=Ax+y+zy [4]

2 X cHx+2y

24) W cos y=1x cos (a + y) 3 cos a = t1 7 fog Wi dy _coslat+y) (4]

a sima

15) fx) = 3x'+ 4 - 1207 + 12 g v w1 & T =AY #n T
frerm w T i) [4]

3x

L E ] i4]
(x+1)(x"+4)

26) j

17) e T

£—£+ Cﬂ:-it'l:[i ] =1

dr x X

= = | Ty~ 0 = Pl ve 7w i) 14]

¢ ¢ ¢
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This Questton Paper containg 20 printed pages, : =
(Part - A & Pari - B) uBL Wael He Aoz sl

sl.No.

(CLASS-XII)
(Mew Course)
Part-A : Time: | Hour/ Marks 2 S0

Part - B : Time : 2 Howrs / Macks : S0

e adm OMR aflewi
a2 siel d 8,
'}5“ (E-) Set Noo of Question Paper,
(MIAY, 2021) circle mgainst which is fo
SCIENCE STREAM darken in. OMKR uh-ul'.hj

(Part - A)
Time : I Hourf fMaximum Marks : 50
Instructions :
1) There are 50 objective type (M.C.0).) questions in Part - A and all questions

are compulsory.

2)  The questions are serially numbered from 1 to 50 and cach carries 1 mark.

3} Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4)  The OMR Sheet is given for answering the guestions. The answer of each
question is represented by (A) 0, (B) O, (C) Oand (v O, Darken the
circle @ of the correet answer with ball-pen.

5)  Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6}  Set No. of Question Paper printed on the upper- most right side of the Question
Paper is to be written in the column provided in the OMHK sheet.

7}  Use of simple calculator and log table is allowed, if regquired.

%) Notations used in this question paper have proper meaning.

1) The equation of the plane passing through (a.b.c) and| Rough Work

parallel to the plane r'-[r: + }'1—.‘?}= 2 is

(A _r+_1.'+:={:l
(B x+v+r=a+b+c
(C) x+v+z=ak

(D} bex + acy + abz = 3abc

YPH(i6) (New) : G-510 (PLO)




G -510

2) If for a linear programming problem feasible region is | Reugh Work
bounded, then the objective function has

(A) only maximum value
(B} only mainimum value
(C) both maximum and minimum value

(D} neither maximum nor minimum value

3) Comer points of the feasible region determined by the
system of linear constraints are (0,3), (1,1) and (3,0). Let
£ = px + gv, where p.g > 0. Condition on p and g so that the
minimum of £ occurs at (3,0) and (1.1) 18

(A) p=2q (B) p=

L RE =

(Cy p=3q (D) p=gq

4] For LPP problem if Z = 4x + 3y and comner points of the
bounded feasible region are (0,00, (25.5), (16,16), (5,24)
then maximum value of £ occurs at the point

(A} (0.0) (B) (25.5)
(C) (16,16} (D) (5,24)

. 1 3
§) Forindependent events A and B if P{A)=—, F{-""lUEI}=§.

then P(B) =
(A) 0.01 B) 0l
(C) .2 (D) 0.5

YPH({DG) (New) 2




0}

7)

H)

9)

&
If EP[M=F{E}=1—55 and P[ﬂ,-’B]=E then
P{AuB) = ;

11 11
(A) 2% (B) 3

19 2
(C) % (D) e

If A and B are two independent events, then
PAUB)=

(A) 1-P(A"YPB') (B) P(A)+P(B)
(C) 1-P(A)P(B) (Dy PA)P(B)

The relation § in the set R of real numbers, defined as
S=l{ab):ash}isa relation.

(A) reflexive
(B) symmetric
(C) transitive

(D) not an equivalence

f:N=N fixi=sx'is

(A) ome-one and onto function

(B} not one-one and not onto function
(C) one-one but not onto

(1) not ong-one bul onto

YPH(06) (New) 3
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10} Let = be the binary operation on Z* defined by a*b= "

11)

12)

then (2« 3} =d =

{A) 2™
(By 2=
(C)
& 2"

2

If cosec™ x = vy, then y&

b
w [44]

o (52}

3
2 i

(A) p (B)y - 5
i i

YPH(DG6) (New) 4
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-
¥ Xey)

5 ®
(A) 2 (B 3
= ir
(C) r (1)) 3
sin”'| cos :-;in'IE
14) - = .
T g
{A) 3 (B) e
x I
(C) "8 (D) .

=5

15) For matrices Aand Bif A'=|2|and B'=[4 3 2] then

(BAY 152

(A) square matnx
(B) row matrix
(C) column matrix

(D) not defined

YPH(06) (New) 5 (PT.0.)
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Hough Work
COSfF  —Sindy et
16) If A=| . and A + A" = 1. then value of o
SiNé  COsdx

is

(B)

s | 7

(A)

& |

ir
i

(iC)y =« (D) =

17} If the matrix A is both symmetric and skew symmetric,
then

(A} A is adisgonal matrix
(B) A isa zero matrix
(C) A is a square malrix

(D) A is a Identity matrix

7. 0 0
18) Fmrrmu'i::-l::ixunr.i"l'if'..'ﬂ:+‘|’=[ ‘-‘arud}{—"r":[ ]1
2 5 03
then 2X =
10 0 4 0]
(5 @ (2 9]
(C) 14 (D) S0

YPH{06) (New) 6




1%

20)

21)

22)

T+y y+z =+
I X ¥ =
! 1
(A) x+y-z (B} y+z-x
C) z+x-¥% {0y 0
2 =2
I1"*""l=[ql 3:|'[hE'1"|ﬁL't:
1 [3 -2] 13 2
A e 3 B "l 2
1 =3 2] vy 3
© 13l =2 @ F4l-4 2
If (k,0), (4,00, (0.2) be the vertices of triangle and area of
triangle 15 4 sg.unit then &k = :
(A) OB (B) 0,-8
() 0,16 (D) 0,-16
Kcosx "
Y lFI’E
1 )= 1 o L
- ifx=—
2 2

T
If f is continuous at x= =, then the value of k=

(A) -l (B) 1

(D 4

1
(C) 3

YPH(DG) (New) 7
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Rough Work
d|{ 2tanx ]
23) u'.r[1+'r.an! x] =
(A) 2cosdx (B) cos2x
(C) sin2x (D) 2 sinly
: day
24) W x=a(l -cosd)and y = () + sinf)) then o
f
(A) coB (B} ecot—
é
(C) tanb (D) [im.l.

25) The point on the curve y = x" at which the slope of tangent is
equal to the y-coordinate of the point other then origin is

(A) (L 1) (B) (2,8)
(C) (3,27) (D) (4, 64}

26) fix)= 10 - 6x — 2¢7 is strictly increasing in

interval.
3 i ik
(A) (-C“-"EJ (B) [—?fﬂ]
3 3
() (—W-E] (D) [-m-i]

YPH{(06) (New) 8




27) The normal at the point (1.1) on the curve 2y + & = 3 is

28)

29)

30)

(A) x-y=1 (BY x+y+1=0
(C) x=y=0 (D) x+v=0

For the curve y = x' the equation of normal at (0,0} is

(A} x=0 By =0

) x=y (D} x=-y

J 11 dx = +C

2x* +3 e e

A Lmn"[ﬁx] Ltan" ‘E:

» F=F ® T 5
l - | \IE.I I | E-T
—1{an e Amitr

© 3 ['ﬁ'] B & (3]

J' J=2x-x'dr = + C.

] .
(A) Slx+IW3-2x-x" -Dlog x+1443-2x—x"

(B) %[xﬂw‘]—lx—f +2ogfr+1+43=2x =1

(C) %{.ru}J = e R x+1]

¢ 2

i %{I+1J*-'I3-1.1'=J;! + 2sin '[EJEJ

-y

YPH{06) (New) v
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i) !'Ingfdr =

(A} xlogx—x

(C) 2x(logx+ 1)

+im 3}
j r—!]

{A)

(B)

(i

(D

.

(A) logile"+¢™)
(C) tan™ (&™)

|

14) Iﬁin":‘fb: =
{4A) O
iC) n-1

YPH{06) (New)

+ C.
(B)

2% (log x* = 1)

[ .1[]
2 1 "
(D) * “L".,t'

+ C,

+C.

(B)
(™

(B)

(D)

log (e — )
tan~ (e}

G - 510
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35 isin:x:ir:
1l X
(A) O (B) iy
| |
i) THR (D) _+E
i- v
36) w b4 cotx =
Ay = B =
{ : (B) 3
T T
() 3 (D) =
T
37) The arca bounded by the curve ¥ = cos x between X=——
and x == is square unit.
(A) 3 (B} 1
3
(C) 2 75 i

38) The arez of the region bounded by the ellipse :ﬁ +'%=:|
15 square umit.
(A) 144n (B) 12In
(C) on (D) T2n

Y PH{OG6) (Mew) 11
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39) Area of the region bounded by the curve v = 4x, Y-uxisand |  Rough Work

the line y = 3 is sjuare units.
B) !
¥ i
(A) 2 ( P
g 1
€ 33 @ 3

40) The degree of the differential equation

- 1 3

d'y ) (dv dy

e i il == |1 =1 ja
[dr’)'*[m]m"[:tr] e

{A) 5 (By 2
<y 1 () not defined

41) For the differential equation sec” x tan y dx + sec” ytan x dy =0,
the general solution s

(A) tanx-tany=C (B) tanx+tany=C
(C) tanxtany=C (D) wnxcly=C

42) The number of arbitrary constants in the particular solution
of a differential equation of fourth order are

(A) 4 By 2
(Cy 1 (D) 0

43) If{25+ﬁ}+2?£]x[r’+;ﬁ}+nﬁ}=E|thr:n}.+u= :

=

| 23

(A) - 1

]

33

2

(&)

YPH{DE) (New) 12




44)

45}

46)

47)

For given vectors, &=2i — j+ 2k and J;u—f+j'—i:. the
vector whose magnitude /2 unit in the direction of the
VeCtor g4+ b =

(A) j+k B) i+

(C) F+2j+k 43 1

The angle between two vectors 4 and & with magnitudes

1 and 2 respectively is ,where g =1 .
x x

[(A) 5 (B} 3

o = D) —

() - (D) 3

If @ is a unit vector and (¥-a)-(¥+d)=8§ then

(A) -3 By J7

<) 9 (D) 3

The projection of the vector i - on the vector j+ |

(A) -1 (B)

cy 0 (1

YPH(06) (New) 13
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48) Let @ and h be two unit vectors and 0 be the angle between Romgh Work

them and d—h be a unit vector, Then 8 =

T .8
. B .
(A) 3 iB) 3
T 3 g
i) 3 () =%
o h=x: Ay-14 _x=3 T-7x y-§ 6=z
49) Ifthelines—— = P 3 and 3% g
are perpendicular then p =
70 70
(A) 11 (B) 11
(C) 10 (Dy =10

50) The caresian cquation of the plane which passes through
the point (5.2,-4) and perpendicular to the line with direction
ratios 2.3,-1 15 )

(A) Zx-3y+z=11 (B) 2x+3y-z=12

(C) 2x+3y-z=20 (D) 2x+3v+:=20

YPH(0G) (New) 14




050 (E)

(MAY, 2021)
SCIENCESTREAM
(CLASS - XII)
(New Conirse)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
I} Write in a clear legible handwriting.
2)  There are three sections in Part - B of the question paper and total 1 to 27
questions are there,
3} Allthe Sections are compulsory and general options are given in each Section.
4)  The numbers at right side represent the marks of the question.
5)  Start new section on new page.
6)  Maintain sequence,
Ty Use of simple caleulator and log table is allowed, if required.
8)  Use the graph paper to solve the problem of L.P.

SECTION-A

B Answerany cight questions from question number 1 to 12. (Each of 2 marks) [16]

1)

2)

3)

Prove that

mn_,[ucnﬁx—h 5in x

g @ &
- =lan ——X where —ianx > =1
hl..':1:-1.1'+.:.r5|nx] h h

If:}

Find value of s-in[3 tan " = |+ cu5{ta.n' 3.

LPV R [ 8

5{1' IDE X
“-r =g |.1 prayge Ihﬁl: dr {ll Iﬂb T]

1
I (x—I)Nz=2) v evaluate this.

YPH(D6) (New) 15
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2]

12
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8)  Find the arca of the region bounded by x*=4y,y =2, y=4 and Y-axis in the
first quadrant. 12]

6) Using Integration, find the area enclosed by the circle x° + 37 = 16. 121

. 12

7)  Find the slope of the normal to the curve x= 1 —asind, ¥ = beosal =

b | 24

#)  Find the area of the triangle with vertices A{1,1,2), B(2.3.5) and C(1,5.5). 12]

9) Find the vector equation of the line passing through the point
x—8§ y+19 =z-10

{1.2.-4) and perpendicular 1o the two lines 3 T and
x=15 _y-3% z-3 12]
3 8 =5

10) Find the equation of the plane through the Intersection of the planes
Jx—y4+2z-4=0andx +y+z— 2= Oand point (2,2,1). 12]

11) Given that the two numbers appearing on throwing two dice are different find
the probability of the event *the sum of numbers on the dice is4”. 121

12} Prove that if A and B are independent events, then so are the events A and B, 121
SECTION-B
B Answerany six questions from question number 13 1o 21, (Each of 2 marks) [18]

1]
}’—rRF{E} is defined by flx)=

|~

Ix+4
J,"

13) Show that if J':H—{
=7

anid

3) 7 7
g:R- {E}—rﬂ-{g} is defined by B(x)=——

> then fog =1, and
S G 2 A

gof =1, whcn:h=R-E], a—n{g} 3]

YPH{0G6) (New) 16




14)

15)

16)

17)

%)

19)

20)

21)

G- 510

1 2 =7 = =9
Find the matrix X so that X ; = b : 13]
4 5 6 2 4 6
cosxy —sinx 0
If Fix)=|sinx cosx 0| show that F(x} F{y)= Fix+ ). 13]
0 () 1
.o Y
Find -:‘i? ifx'+y=1. 13]
Find the equation of the tangent line to the curve y = x' — 2x + 7 which is

parallel to the line 2x— 3+ 9=0, 13

For given three vectors &,b,¢ it is given that G + b + & =0 and if |a| =1,
|.E|=4.|c’|=2 then find the valucof G- h + b -6+ . &, 13]

x+l ¥+l z+l

Find the shoriest distance between the lines 7 5 7 and

¥=d y=5 -} 13]
1 —=d I

Solve the following linear programming problem graphically : | 3]

Minimise £ = 200x + 500y
Subject to the constraints
x+2yz10

Ix+d4y<d

xz20,y20

Two dice are thrown together. Let A be the event getting 6 on the first die and
B be the event getting 2 on the second die. Check whether the events Aand B
are independent. 13]

YPH{06) (New) 17 (PT.0.)
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SECTION-C

®  Answer any four questions from question number 22 to 27. (Each of 4 marks) [16]

21)

13)

24)

25)

26)

7

2 0 1
IfA=[2 1 3| findA*-3A+6L 14]
L -1 0
X+y+2z x ¥
Prove that £ y4+z+2x ¥ =x+y +zy 14]
= x 4242y
If cos v = x cos (a + v) with cos a = £1, prove that ﬂ:ﬂf_ﬂiﬂ 4]
' elx sin g

Find local maximum and local minimum values of the function f given by

Flx)=3x'+ 427 — 126 + 12, [4]
S5x

ind | ————¢ 4

F'“dI:x+IHx‘+91 ) ol

Find the particular solution of the differential equation :

. A Ty
‘i-i+cum Y=o ye=0whenx=1. 141
ax x \.IJ

¢ ¢ 0
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This Question Paper contains 20 primed pages. :
(Pt A & Pt~ ) u Yyl H2 Aoz el

SL.No.

Part=A : Time : 1 Hour/ Marks : 50

4ol adot OMR #ll2vi

Oe000B5 ug 536 3¢ 9.
052 (G) Set No, of Q:iuﬁnn Paper,
(MAY, 2021) circle against which is to bej

idarken in OMR sheet.
SCIENCE STREAM =

{CLASS - X1I)
(New Course)

Part - B : Time : 2 Hours / Marks : 50

(Part - A)

Time : I Hourf [Maximum Marks : 50

Yaul

1)
Z)
3)

4)

s)

)

7)
8)

L el ewtA A dgadll wsr-w S0 usl B, e v usl sBaua 8,
uallll s 2o 10 50 8 A RBs unHdl 198 8.

&mgl'ﬁa 835 Wl weut 59 uiRl Rsew wis sl OMR tllzal wveus
el

i vgell Ul OMR wsa & o ui -io) 1l (A) 0, (B) 0, (C) 0, (D) O
el 8, d waedl @ aveuet WAl ddl Bsew warl adad eleiiqel yel
Uz @ sl il

3 sl dq 2 222 osdeal v wldl v W sasd 2l

weesl G-l el cuynl @l s Az A A OMR Al @il
WML eves] el

Raellol w32 wguy cui wel dewydeaddl A dib 2eial Guallay 54l usdl,
Sl un well Ry Mgl d-l yaulRa v 8.

1}

1.0g 2iFgnlEioues e o7 50g Al siloutd & A Al W s
SRMEAEHL0.40 k AL 9215l EUlA B, Silmietell 2Rl 2setue 2015
5.12k kg mol™ 8, glede e 7o 2l

(A) 356 gmol’ .
{(B) 280 g mol™
(C) 562 g mel

(D) 256 g mol!

HZE(06) New 1 G-5§811 (PT.O)
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2y uR iR i wel GR eust w3l du B, MM 3 o1l
[agien, wesl vz 8.

(A) -2
(B) #eli
(C) eyl =Rz

(D) o YA

3) w450 iR geer 5g NaOH 2lidial € dl gl slelél
.............. &, (Na= 23, 0=16, H=1 g mol™")

(A) 0278M
(B) 27.8M
(Cy 278M
(D) 278 M

&) AR 2, wuRi By dFed [EY, | o B,

[E“h,‘ = ~OT6VE" i = n.suw}

Ca*" )Cu

Zn/ Za* || Cu* /Cu

(A) —076v
(B) 0.34v
(C) 1.10v
(D) -042v

HZE{06) New 2
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5) Al el wlswnl dqad 2unii4 wyeu 3 edio| 2w sl
Cuy, +2Ag, - Culy, +2Ag Efq=0.46v

(A) 3.92 = 10"
(B) 3.92 =10W
(C) 392 = 107

(D) 3.92 = 10"

6)  od 0.5 AT weie dieelly cuaizll 2 ses iz 9l B, dl aswel
Sea gt =l s eal?

(A) 3000 C
(B) 360C
(C) 36000 C

(D) 3600 C

7) il wrlen Sy sl e w4 Wl s sl gL
K =2.3 = 10-*L Mol'Sec”’
(A) 41 #3
(B was 53
(C€) el 5%

(D) el 53

HZE(06) New 3 (PT.0.)
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8)  wis e saeedl b Wiz Aot vruoils K = 5.5% 104§ sneusll 8. 2 51
Wk, A e 2l

(A) 1.26 = 10"S
(B) 1.26 = 10“8

(C) 6.93x10"5
(D) 12.6%10§

9) g sl b i S s Wi il 2 87

(A) [R]=-Kt+[R]
- E:[R]ut—ER]
o x-RI-RL

(D) [R], +[R]=-Kt

10) 22 20{lsamul 298 k drue, 0,059 Y sk B9

2303RT
A) ”

® 2.303F

RT
© S

2.303R
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11) =4 22g “l=i (C H,) 222g st 22158RIES (CC 1) L =Punsr % s
w1l ol (W/W) ML MG e, ¢il.

(A) 90 %
(B} 9%
(C) 09%

(D} 0.09%

12) Alfhen Wl 54 Gaigan wlad 87
(A)
(B)
©) =l

(D) &&

13) @il - seotett Flam W, tetoufiat wlal wagiud sl b

g, wieed] iell agy e3l?
(A Qr B) PO
(C)y SOF (D) [Fe(CN)]J*-

14) el Hia sreusl

(A) [l (B) ®ig
() wifs siuaes (D) =erledl Hle
HZE(D6) New 5 (P.T.0.)
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15) sesella wfbeive wuardd

&) ¥, =KP’

®) ¥ =K

© ¥ ~Kp

@) ¥, =P

16) it BsteeAbiveald ... e Bl yEhsel
L Y B,

(A) Fe.Ge
(B) Cu,Si

(C) In,Ni
(D) Ge,In

17) flerasi euli Bl Wl s v w89
(A) ZnS
(B) NaCN
(C) CuS
() HCN

| 1 Il 1l Uksadl vif siave 8,
(A) HS0, (B) HSO,
(C) HS5,0, (I HS.0

G - 511
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19)

20)

21)

22)

Alket] Ul 5 dellormt 2l 2z vituzel s §9
(A) XeF,
(B) XeF,
(C) XeF,

(D) XeOF,

seayd 120 saldl s 2 w2 s BY
(A) Br
(BY Cr

(C) NO;
(D) NO,

Cu™ o ool Ao e, A B,
(A) el

(B) ofl

(C) dldl

(D) el

Cr -l Sasgid sl 58 67
(A) [Ar]3d54s'
(B) [Ar]3d*4¢
(C) [Ar]3d°4s"
(D) [Ar]3d*4s"

HZE(06) New 7
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23) ARl 54 Hdlort usialls (rlla salad 219 W s
(A) - [CoBrfen)]
(B) - [CrCL{OX), ]
(C) 3t - [Fe(NH,),(CN),
(D) i - [PICL, (en) |

24) el [Co(NH,), SO,|Br it [Co(NH,), Br] SO, i
HuuzsdiAl Geszel 9,

(A) wli
(B) -lsza
(C) =i
(D) ams B

25) ARzl sl Bz (@l 7
(A) NH,
(B) llsctdd]
(C) EDIA
(D) S -1,2- stusaidn

26) A2 sulEe wedeeiel 8wl ucledl wlRlucusdaen sud

wirHied 52,
(i) CH,CH.CH.CHBr
(ii) CH,CH,CH (Br)CH,
(iii) (CH,),CBr
(A) (i) = (i) = (iii)
(B) (i) < (1) =< (iii)
() (iid) < (i) < (ii)
(D) (i) = (i) < (i)

HZE(06) New 8
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27) Al 5 ulks delpiciedl s w2 o 89 ¥ sl
(A) KI
(B) sOCL,
(C) NaNO,+HCI

(D) Cugl,

28) selleEAl aps Javal wlsam g e b sl 3 wa?
(A) BlEd (B)
(C) Wil (D) w42

29) wieside seimgoniel] suesda 2ualads kel seumel Wi
SRR

(A) -l wls
(B) [hrseimedn i
(C) (lEay ulu
(D) zaugs uia

30) Al s sl vleris Bl sl use 12,
(A) udlibugy A=
(B) &Rl Al
(C) A=t sy =

(D) elegn

HZE(06) New 9 (P.T.0.)




31)

32)

33)

i)

AlZliaiel] st pka - e sllell 9y edl?
(A) m - Azl (B) Bda
(C) p-dzilbdla (D) p- &ld

dlata- 2ot wlb gzt o8 Ay M i 59
(A) HlakEs =R

(B) Hmulfzads

(C) heoallbeirle

(D) [lss AR

wifis 2eslalaisl] susleds HelaleAl 2l A Hovcen w2
sl Gow whis 89

(A) PCC
(B) KMnO,
(C) Cro,

(D) Cu s 573k anpuA 23 sl

~Al2 gaticien sdlerl Usl 5 welloret Biesly dar 52919
(A) Bléue

(B)  ceoiedlads

() 2- Feuda Yreria

(D) 2,2- seBiande wq2eus

HZE(06) New 10
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35) Al SARs el el 2sdl s 5417

(A) NO,CH.CH,COOH <CH,CH.COOH<
FCH,CH,COOH < CICH,CH,COOH

(B) FCH.CH,COOH < CICH,CH COOH=
NO,CH.CH,COOH <CH,CH COOH

(€) NO,CH.CH,COOH <FCH,CH.COOH<
CICH,CH.COOH < CH,CH.COOH

(D) CH,CH,COO0H <CICH,CH.COOH<
FCH,CH,COOH <NO,CH,CH,CO0H

36) ~Ali-siell g4 wdoe wuslsisid sal] uvdl 7
(A) [lede wsslily
(B) A2l
(C) =iz
(D) 2udedlvdy 2ussidl

37) Beuducia-ial deonedleds vl ikl -zl s4
il{F el s B9

(A) KMnO,/HSO,
(3) ErU:G]:
(C) CrO; H,80,

(D) K,Cr,0,/H,S0,

HZE(06) New 11
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38) et ulks Aldbemial s Soube sileed 2dl w5289 b s

(A) C,H,NHCH,
(B) (CH,CH,)NCH,
(C) CHN(CH,),

(D) (CH)N

39) ettt st Sl-ATERRL oE wH Sl A Wl CHCI
wiel ula sec 59 ldey wim 2317

(A) N - Brude Baaud

(B) N, N - silhaude et Bt
(C) GlrAlfe SAuiEn

(D) Al

40) =il 2pud- 20 n - o SeudH s e s
Bewaa 59

(A) Bpwe
(B) [huslle wye
(C) A

(D) 22w

HZE(06) New 12
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41} Alruin] s Hulesisl] vy sl 8y G de S 2kl % s
il 357

(A) ueside daids o
(B) Azl o

(C) s o

(D) Az 2l

42) Aleuniell 54 Faum w59
(A) 45l A= [esufFion 2iba 8.
(B) sior 2llAelERuds Geua 8.
(C) sy ARisl vifERa-el ks iR wa 8.

(D) el senfdienn-el xals in g2l W 8.

43) AR vl 54D - FralEade vz 89

CHO CHO

(A) H+ OH {(B) HO H

CH,OH CH,0H

(C) wiA (D) =isue -2
HZE(06) New 13 (PT.0.)
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4d) il SR ARl 54l o] el 1o % 56
' (A) =Bl By ol
(C) aza (D) =

45) ARi-nisl 5 Ao DNA i etz 8ll7
(A) =il
(B) e
(C) ekl
(D) e

46) a5 bt 2l Sl s ade wousrddl s e
8.

(A) 4
(B) 3
(c) 2

(D) 1

47) ARl 58 clsal wlzsny aq yEEdl @7
(A) Al cuglis clfilds wuse,
(B)  =ilssat 24 B areud s 8,
(C) 2eeud [ B6is 8.
(D) syl ad weal 2zey w4bala weudl weel,

HZE(06) New 14
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48) it lom A el PuAQ A4 g 8, art @ (oA ofl) -] 29 a6l
WEHIEPAL CCP v & 24el et P (8ttt ofB) -1 vyl
oftll oy iesasly (Bl ol & 6 ol ke 32 3 edl?

(A) PQ
(B) PO,
(C) PQ
(D) PQ,

49) o welld v a=b= ¢ vl WElLa ==y =90°, dl %l
wendl .............. gl

(A) éhelidsd vual Bislel
(B) ey
(C) wzskslly
(D) zdGas

50) 51 gl gt wendl 8 i gl iy 89
(A) el gren wty de-iy
(B) ~utdzler-t sy 2udl Pl sy scldlaid
(C)} Al Ul 533
(D) el edglav gt
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052 (G)

(MAY, 2021}
SCIENCE STREAM

(CLASS - X11)
(New Course)

(Part - B)

Tire ;: 2 Howurs/ [Maximum Marks @ 50

Yol

1)
2)
3)
4)
5)
6)
T)

Wy dy sdaduq snad,

Wil WAL CURLB W gL Fowt 8 wiA g1 1 el 27 wel il 8.

ot o sl sl 8. wiaks Rsedl sl 8.

waedl ol cuy-u s d-u 3@ sl 8.

el [Eouat el Wl W el

usletl oyeyied SNUL Emel

[Repell=l w3z wouy cui el beydan e dlat duadl Gualler sdl usil

(ot - A

w8 wilan wn Ao 1ol 12 wiell W vt o6l A 8 Wl weuet 3,
(35 Waell 2 3L B) [16]

1)

2)

3)
4)
5)

6)
7)

)
9)

di Gewasll 28 bse 4l wusel (wusla szl -el)

AL 225 BgrlEious-pi s w2 wesb- 53l

i) ANO, « sl greg Riear Bgagel sl

i) H,S0, - 5 gre vl Fenasel 2,

liis™ il 2Bl 922l sl S YEL Evil.

el Gy 2

(Hretri=E wllsvel girt 2ol

SBR[ RS 2t S2aHs ARl bsdl dher Segial BRI s sngudl
ot St eteaedl wrmsluamis 26 i dl deu el geenl Bridlees wieaedl
2oisly, 20 Al

oigla i suaR wised wbegen sesel veuld aelbl (sl sl )
13, e S e quil
Bedieruiell ARG AR
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10) 24l st wueuR W selaele sollsze wuoasl,

G - 511

11) #etmasll: dlsde wipuds B ul
12) D - sl HI 208 b seemil s ot of 2 69 2ollsaen ge ol

Bewt - B

o ol sl wa AR 13 el 21 wiell e oo a0l A 6 uslle veey .
(2 ubll 3 3@ 8) [18]
13) Hge- Bl 2i2el 219 HEL el dlbaa dgad sl ol (2 o)

14)

15)
16)

17)
18)

19)

20)

21)

AlEledl 514 Wiz 298k il e 2flaen el 2 el e sl
Mg, /Mg (0.001M) || Cu®*(0.0001M)/Cu,,,

E ==236vand E°

e =034V

nuf'm;
a0l 2t gl s(Be Freurll 2ol

s waslirledl virtez selel v SR wibine wuaqel wisafEs =R
wtidledl ulbaie] el 2eflszot el

sl sl it [RESicl 2t K [Fe(CN),] M titieed] 212l 53l

A2 Eauldel el 1- 2ol stz weq walsael il
i) e - 1 - sliy T S TN
iif) 042 - 1- g4

AIE gailda wiadAl w2 zeeae whued ail:

i) eagpeeuinl] sap-is AR

i) Rl el Wit

i) raifebadsuiEl m - gl ArsilEeds

AL 3l duell ABLs WeAetiAL 22etl $24L 2la8L

i) GHNH, CHN(CH,), (C.H),NH

i) =lHdl, p - gl sl p - 2leydl

i) € HNH,, CHNHCH,, C,H,CH,NH,

A2 gnicie don 2idlisedi-l Flamee 2w gL oz iz wWisi-d
sopel, Hllsee) ol

i) - Wil W i) eailE sl
i) 2 - Gl - 2 - G wild

HZE(06) New 17 (PT.0)
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Eewst - C

A wulen sz 22 ol 27 wiell ey Yol L A 4 sl st wedl
(E5 Wl 4 38 8) [16]

22) i) 18g s (CH 0, ) kg eellai is e sisufia 8. 1.013 bar el
gl 4L el Bamal? well we K, =052 kkgmol” 8.
(C=12. H=1,0=163% 4 ")
i) Wl 200 em® e gl 1.26g WA 4xE 6, 300k AR B
gleitiie 2ABEESL 24181 2.57 * 107 bar weuy, 8. Widkr Hier 2a @l

23) g Ersle- sabud Aol 245 ©Sr 8, o vl 28,1 94 8. %A d
o WL cllod &L AL ST | g *Sr S0 HEE pileda dly, dl d
sl o vl S8 sl Bruell *Sr opusiy A &, dl 10 =08 2 60 el
wirl cetl 2ol b2 "'Sr 28] €217

24)  sllirtrti Gougadl et wss in Banlouse- wis FEE «elEl duer, sl
i) &5l e g NaOH iz
i) % A g NaOH
sl Wl 22t 3ilsae il

25) kA 2840l TUPAC A sl 24 etaied] 2jeidly =g, 21l

) K,[Co(C0)]
) Cs[FeCl)]

26) -] Ul A 2 B - citel srousl
I_.I CH!CHIEI' ECH }A i} BIBAL-H FB

il Hlﬂ

11 1 v . ]m] [
|[]' C‘lH!Nﬂz - r A {ﬁll.:iﬂ'l & !'E

27) wueasl:—
i) e sl
i) sFmEl wlsa

T XY
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This Quesiion Paper contains 2] printed pages. -
(Part - A & Part - B) W Uz He Auz -l

SLNo.

Part-A : Time : 1 Hour / Marks : 50

uoil adm OMR allzui
052 (H) ug s3] W 8.
Set No. of Question Paper,
{MAY, 2021) |circle against which is to be
SCIENCESTREAM darken in OMR sheet.
(CLASS - XII)
{New Coursce)

Part - B : Time : 2 Hours / Marks : 50

(Part - A)
Time : 1 Hour] [Maximuum Marks : 50
e
1) sawEwEH Part - A & wefe ven & 0 50 o 81 wvh oy sfand )
2) wFidEmEE 1250 ST w13
3) e W el Ty o i ot freea =t v
4) s FFm @ T OMLR. s wE ' (A) 0, (B) 0, (C) O 3k
(D) O Fam wa ) For wom = T =1 & 3 e & Tiemem & SR A gl T (@)
e g
5) fiv v gyamm | 3@ il SR gvags @2 = w0 OMLR. e ¥ Ioeey wiem |
frfream
C6) T W B U gfer & m W § w0
7) afE Wl g0 A e w3 miEE (Log Table) & zoam it smmfa £ anit
#
8) O WE-UA H I99m & W wman = wsien ol 2
1) T AgreEsEEEa E | 00 S0g FA § e ged || T 9

o 0,40k F1 & 7 81 S5 = i s i 5.1 2k ke
mol- 3 e = dier gEmE ¥ am|

(A) 356 g mol!
{(B) 280 g mol™
(C) 562 g maol”

(I} 256 g mol™

HZE (06) (New) 1 G-511 (RT.0)
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2) i wE & fom s e aga i d@m ) gess e TF w1

............ fereeit Tmanft 27
(A) wwiE= (B) @
(C) Fepeia defize (D) Hq=m & =
3) FEmmRIEEET .. wreft Fmdd 5g NaOH, 450 ml femm
fdgmesndl [Na=23, 0=16, H=1 g mol"]
(A) 0278 M (B) 278M
(C) 2.78M (D) 278 M

) P e s R fwm (E 99 ...

[E«bhfh = 076%,E", ., =034 ]

7n/ Zn2t [cu?t/cu

(A) -0.76v
(B) 034v
(C) 1.10v
(D) —-D42v

5) Frofefimm sfufiss = o s = o fEman @i
Cuy, +2Ag,,—>Cu'y, +2Ag,

E°,. =046
(A) 3.92x 10" (B) 3.92 x 10
(€) 39.2x10% (D) 3.92 = 104

HZE (D6) (New) 1




)

7)

8)

9

af2 ves enferss an A 0,5 ufd ©1am 2 92 & feo gafia @
7 A | e wem e s itz

(A) 3000C (B) 360 C

(C) 36000 C (L) 3600 C

K =23 = 10-*LMol"'Sec”!
(A) ¥ wife (B) wum wifz
(C) fRia=f (D) =k

T e Rk affE s R wmam K = 551014 5

uren w21 58 i & R by L Fm?
(A) 126 = 10"S (B) 1.26x 108
(C) 6.93=10"§ (D) 12.6x10"S

7= itz 1 srfufEm 4 3 R o e wdm wm w e

(A) [Rl=-Ki+[R],

«  [Rl,~[R]

B
(B) :

[R-] = [R ]u-

’ K=
() :

(D) [R],+[R]=-Kt

HZE (06) (New) 3
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10)

11)

12)

13)

208 K mroam m e w8 0.059 F feam g2

2.303RT
'F

(A)

RT
2.303F

(B)
{(C) El
o}

2.303R

(D)

af2 22 mm A=A A 222 v R 3w g @ A e

R ZEA T (WOW) A L )
(A) 90% (B) 9%
{C) 0.9% (D} 0.09%

Fraferfas @ 8 0 SOEE T WEWM R A E?
(A) °u (B) bz
(C) el (D) 7@

- fmFam R s s EEm s =R
e T I R

(A cr (B) POy

(C) SO (D) [Fe(CN), I

HZE (06) (New) T4
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14) s AR 59 W =/ .., T &

(A) Tt

=

(B) #mqy
(C) el fae e
(D) = |9

15) whig-afirn sufagiram aoard = 5 T
(A) %:KP‘“ (B) %I=F.Z

© ¥, =Kp* ©) ¥ =P

(A) Fe,Ge
(B) Cu,Si
(C) InNi
(D) Ge,In

17) A waa Tl | s = w6 9 i .
(A) ZnS
(B) NaCN
(C}) CuS
(DY HCN

HZE (06) (New) 5 (PT.0.)
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18) wwieE w=y e d | a s | 2m R T T

(A) HSO,

(B) HSO

]

(C) HS0,

(D) H.8,0,

19) FafefEs 4 @ fea d9ifs & oran i quada 26 2

(A) XeF, (B) XeF,

(C) XeF, (D) XeOF,

20) = fin afte Bem srmm & foo fmm s B
(A} Br (B) cI

(Cy NO, (D) NO;

21) Cu™ e U AW .,

(B) e

(C) =

(D) dten
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22) Crum & W gHe e ™ T

(A) [Ar]3d%s'
(B) [Ar] 3d'4s
(C) [Ar]3d%4s

(D) [Ar]3d*4s®

23) T 1 A Tarm i oy wvmeraEm T arg w3
(A) Cis-[CoBr,en).]*
(B) Cis-[CrCL(OX), ]
(C) Cis-[Fe(NH,),(CN),J

(D) Cis-[PCl, (en), ]

24) ®FA [Co(NH,), SO, JBr sk @ga [Co(NH,), Br] SO, #
............. TR I EETETE g

(A) e EREEE
(B) A wEEgET
(C) ITHEHESTAA HET=EE
(D) e drem wemEEm

HZE (06) (New) 1 (RT.0.)




25) Frefafas fre d @ w0 m e e o B
(A) NH,
(B) st
(C) EDTA
(D) WeR -1.2- Srgufie

26) frafafes difst & g sfufen § sfafeaeies = w5

FwTiA it

(i) CH,CH,CH,CH,Br
(i) CH,CH,CH (Br)CH,
(iii) (CH,),CBr

(A) (i) < (i) < (iii)

(B) (i) < (1) < (iii)

(C) (i) < (1) < (i)

(D) (i) < (ii) < (i)

27) Fr=fafios & | oim = sfeeds teieds Bras o soard 27

(A) KI
(B) SOCL
(C) NaNO,+HCI

(D) CuCL

HZE (06) (New) 8
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28) iR i I Sut A witeaw U % T & sfekEm | % &
fiwrm 7

(A) ®ER
(B) wdR
(C) s
(D) =g

29) tfFws wemgE § A ifews s & e & sfufen
(A) =& - fisfén sfifirm (B) T sfufmm
(C) Tl siufEm (D) wavdm sifufen

) Pl fm e 9§ 9 e @ 3 @ awn)
(A) mpaiioe d=fa
(B) = d=iA
(C) A= aewitm .

(D) =g

31) Frefefan & @ fEae pKa = am wad afs g e
(A) m-mEg FETE (B) Frta
(C) pgdt e (D) p-rwTe

HZE (06) (New) 9 (P.T.0.)
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32) W - Fua whakE g 5 e W a2 % &
(A) Afafafss sne (B) affFmm
(C) HafeEam (D) Tafirs =

33) wufns trwla § 8 tfeesss o & o o (sm)
TR T T o w0 W dw st 3

(A) PCC

(B) KMnO,

(C) CrO,

(D) Cu e 573k a9 0w 4 4

34) Frofefem 9 8 8 =0 @ it tveie ao sfafem s 7
(A) =
(B) FHfrazmz
(C) 2-uftm v=m

(D) 2,2-=rd e =2

35) el & 8 s 6t e & snun o wf emws .

(A) NO,CH,CH,COOH<CH,CH,CO0H=<
FCH,CH,COOH <CICH,CH COOH

(B) FCH,CH COOH <CICH.CH.COOH=
NO,CH,CH,COOH < CH,CH, COOH

(C) NO,CH.CH,COOH <FCH,CH,COOH=<
CICH,CH,COOH < CH.CH,COOH

(D) CH,CH.COOH <CICH,CH,COOH=<
FCH,CH,COOH < NO,CH,CH.COOH

HZE (06) (New) 10
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36) Frafafam @8 wh i s oian 39 2m 7 ™ FH

(A) wiiE Gewigien

(B) ufeEnfE

(C) ofEEm

(D) wrgEmiTe dewE

37) aftred=in d 9 s am & sl § e d 8 sfedeem
i ToEn B

(A) KMnO,/H,SO,
(B) CrOClL

(C) CrO,-H,S0,
(D) K,Cr0. /H.SO,

38) Temni sftais e 4 4 o oftm <ifes o s sfufem 2m e
(A) CJHNHCH,
(B) (CH,CHLNCH,

(€) CHN(CH),
(D) (CH)N

39) aFEErEE % AreTe & e § o ofis @ eie CHLC)
 wra #ialem w5 W w5 9 I wm e

(A) N-wFs gdndg
(B) N, N - seafim e adeeda

(C) &=fre udha
(D) A==

HZE (06) (New) 11 (P.T.0.)




40)

41)

42)

43)

FATEE — TifdendE 3 n St e e 6 e ®
T §7

(A) e (B) TR e
(C) e (D) Frermfem

Froy 1 1 Form <itfivs 1 & v e ifines 7 en it tfes =Amn
o HEA 27

(A) ewm temss i (B) =wsg difrs
(C) tmmz difrs (D) ggE™ Wit

s dd s mem af 7

(A) v ST 7 §l

(B) v sifeemddse = T g

(C) omiis o & i § 45Rs s T g 2
(D) =™ % waaaz # wEE 3w W a i

= & sewen 6 @ D - Fewivdigge & wrem w6 @ e

CHi CH
(A) s (B) Y
H HG—‘—H
CH:UII CHiﬂH
(C) =i (D) uw Wt 7

HZE (06) (New) 12
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44)

45)

46)

47

et e s 6 & iR 0 AT A 7

(A) =g

(B) smdm

(C) TEm=

(D) #F

e # B Fim = e DNA § Toim ad e

(A) TER (B) @i

(C) wmEemt (D) e

e — Hhign T H Ui v it § wmwsh 8 5 wen

SRS, | ||
(A) 4
(B) 3
(C) 2

(D) 1

Freefiafign & A = o e smw i B
(A) Faivas sbusedies st smem)

(B) Ffrem st sfumafors am @ fooem 2)
(C) Frmaivs ogf & o

(D) Mﬁﬁmmaﬂl

HZE (06) (New) 13
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48) v v 31 el P e Q & Ffda § O a9 & oo (eomas)

49)

A CCP I 3 P e & oo (5Avee) et sewedrg fifemm
A i 79 ) O = T 2

(A) PQ
(B) PQ,
(€) PQ

(D) PQ,

I Mgl a=b=c it mefmmm o ==y 200" P mm

(A) Frammg s (Bemd)
(B) =i

(C) gt

(D) Frme

50) frm feae d e 22 oin oS e smen g g 20

(A) W H ge Eg vdeE
(B) seirire ) e i ffim o and
(C) =g = Agetae | | e

(D) Fregem = defeon § B

HZE (06) (New) 14
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052 (H)

(MAY, 2021)
SCIENCE STREAM
(CLASS - XII)
(New Course)

(Part - B)

Time : 2 Hours/ [Muaximum Marks : 50
LA LIL B

1)
2)
3)
4)
3)
6)
7)

T e fela)

wyaA & Part - B @0 faum 2 sige 19 27 sw )

avll wgm s § | sl Rem REaaa R

wifeeft s oo 3 e g o R

T faram 7@ o= w1 fefem)

W 1 AR e )

afE wE gan A T e 3 Ater (Log Table) % vwdm & st 4 ot 21

foram- A

m e o R 1@ 12 F @ wgem Tl i s - mmmhﬁrl
(weld® Wy 2 - 3w = §1) [16]

1)
2)

3)
4)

)

7)

e Erguil g thehe S Tasgu (e smaves T B)

Frafafias 4 ®# ueis % o dupsgza 4 v 3 Ta|
iy Foem seagiEt & wa AgNO, w1 weim faem |
i) e setagid & W H,S0, w1 faa)

Hiufrm 6 =@ dn ke f safvasa & s S e 3w Tl
e A i

T fatl wederon = 2ro owzmee)

e g i Rt srE W e o we | wewnta f anad e
e fratam)

st faeman & R s & <efng sl <6t moen Hifsw, of e om
o 26 11

HZE (06) (New) 15 (P.T.O.)
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8) TG U % ST SR Wi e i i & e faf )
(Fem smavas 75 )

9y Frafefias o 5t =i 4 e S d & afafifes o
10) g st & anem @ A = o i)
11) F= w g Reoft ffiam

T e P afafEm

12) =& D - W 1 HI & 79 sifea & w7 gy ranfaly & am
A

fwm - B

m e R w13 R 21 9 | wengen el ft 6 - we oW T Rt
(wd® wym 3-5w =1 §1) [18]

13) siger s sl @ 7w ol we d gee wem 9o Sifm)
(= smmawas B)

14) Fr=fsfas 8§ 298K Toum W e gdmm e @ e B & oo
|

Mg, /Mg™ (0.001M) | Cu**(0.0001M) | Cu,,
E® =-2.36V, E°_, . =034V

Mg’ inig C

15) 7wl wieige 3t Al wEiEe & 21 0 \iEEn aumnn)|

16) 3T oiz i wiiae 3T SaTeie 316 o A1 1 e = s
witeR TeafiEm)

17) wrEEa sEg fEm & aman w K [Fe(CN),) 760 8 smay & wal |
lEEE e EIE

18) Fr=fefas 7 |- smaEeges wm %= & i i)
i) 1 -FEEm i) |- SEnege
i) =E-1- |\

HZE (06) (New) 16




G- 511

19) Fefafem wo o w0 % B o sfofemm fafam)

i)

i)

e & e
i o | dids

iii) Ffezemes § @ m-mg d=aframme
20) Frafefan ofe Hiffes =t srefra weea & == wa o fafam)

i)

C,HNH,, C HN(CH,). (CH),NH

ii) ufEEE, parg i, p-deda
iii) CH,NH,, C,HNHCH,, C,H,CH.NH,

21) Frefafen frl = fftaem G g om & fm sfiesdst & o oo
weFn ffan -

1)
i)

| -sirfarita
vt

iii) 2-veedt 2-afieds

frem - C

u i R e Fm-22 @ 27 F  wergen Rt @ o ey 0
(vld® W 43w w1 R1)

22) i)

U Hiw (9) | 18g TEE CH 0, 9 1kg 5 3 9em mm 1,013 bar
B o o e fome ma w zedm e w3 fm ks eE 0,52 k ke mol! §
[C=12,H=1,0=16 g mol']

TE URR % 200 om’ wea Feas 1 1,26 9ER 21 300k = =@ e
T RO FE 2,57 = 107 bar 9w v v & e geaae o uitee
G A ]

HZE (06) (New) 17 (PT.0.)
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23) =Rk fammz @ 28,1 @9 wuig @ 0w S CSe i §) ol e
T W | g, S A T R R 4 it g e s aoes 8 e
A A FEE 10 94 U 60 T4 wyEn fRee a9 e |

24) =it & TeaEA S 2 Al s San s e il ffe ae i
i)  @EvE g NaOH,
i) Tm e |E NaOH & gra & sfafwan i)
25) F= wF@ F [UPAC Tm fafem mn gefrg smqol 60 wmorn f&6fm)
i) K, [Co(C.0,)]
i) Cs[FeCl)
26) o sfufrmai 6 A 3if B & s @i

i} EH!CHEET KM _!_Jli i) OIBAL-H }B

) H,0

iy CHNO,—EE, A ‘“F:afh'f:"’ » B

27) WHEEl -

i) g e
i) it srubem

QO®

HZE {06) (New) I8
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This Question Paper contains 20 printed pages. 2 I,
(Part- A & Part - B) Hfl ol g:;‘ ';;lﬂ
SI.No. Mt A OMR ¢

052 (E} ug sl wd B,

Set No. of Question Paper,
(MAY, 2021) circle against which is to be|

SCIENCE STREAM darken in OMR sheet.

(CLASS-XID
(New Course)
Part-A : Time: 1 Hour/ Marks : 50

Part -B : Time : 2 Hours / Marks : 50

(Part - A)
Time : 1 Hourf [Maximum Marks : 50
Instructions :
1)  There are 50 objective type (M.C.Q.) questions in Part - A and all questions
are compulsory.

2}  The questions are serially numbered from 1 to 50 and each carries 1 mark.

3)  Read each question carefully, select proper alternative and answer in the
0.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6) Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.
7)  Use of Simple Calculator and log table is allowed, if required.

8) Signs used in question paper have usual meaning.

1) 1.00gofanon :quctrulyfte solute dissolved in 50g of benzene Rough Wark
lowered the freezing point of benzene by 0.40 k. The freezing
point depression constant of benzene is 5.12 k kg mol™'. Find
the molat mass of the solute.

(A} 356 g mol™
(B) 280 g mol!
(C} 562 g mol™
(D) 256 g mol™

HZE(D&) New 1 G-511 (ET.0.)
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7) The pressure required for the reverse osmosis is quite high. Roagh Work
Far this membrane is used.

(A) Parchment
(B) Cellophane
(C) Cellulose acetate

(D) Pig's bladder

3) If 5 gm NaOH is dissolved in 450 ml solution, molarity of
solution 18

[Ma=23,0=16,H=1gmol"]
(A) 0278 M

(B) 27.8M

(C) 278M

(D) 278 M

4) For the following cell, standard electrode potential [E:Hl ]
s

——

[B s o = ~0T6V,E°

e .lllcu

= 0.341.-']

Zn/ 22t | Cu® I Cu

(A) —0.76v
(B) 034v
(C) Ll0vw
(D) -042v

HZE(06) New 2
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6)

N

In the following reaction, what is the value of equilibrium
constant?

Cuy, +2Ag — Cu’y, +2Ag Ely = 0.46v
(A) 3.92x 10"
(B) 3.92 x 10"
(C) 39.2x 10

(D) 3.92 x 10M

If a current of 0.5 ampere flows through a metallic wire for 2
hours, then how many coloumbs would have flown through the
(A) 3000 C

(B) 360C

(C) 36000C

(D) 3600C

The order of reaction for following value of rate constant is

K=23 = 10" L Mol Sec”.
(A) Zero order

(B) First order

(C) Second order

(D) Third order

HZE(06) New 3
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8)

)

10)

A first order reaction is found to have a rate constant,
K=35.5 = 100" 87, The half life of reaction is :

(A) 1.26 = 108
(B) 1.26 = 10§
(C) 6.93 = 108
(D) 12.6 = 10'*S

What is the wrong equation of rate constant for zero order
reaction?

(A) [RI=- K+,
¢ - [RL-[R]

(B) :

_[RI-[R],

)y -K :

(D) [R],+[R]=-Ki

At 298 k temperature, in Nernst equation 0,059 value is of

2.303RT
F

RT
2.303F

(B)

©) &=

(L)

HZE(06) New 4
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| A

11)

12)

13)

If 22 g benzene is dissolved in 222 g carbon tetra chloride,
then concentration in W/W is

(A) 90%
(B) 9%
(€) 0.9%

(D) 0.09 %

Which of the following is example of sol?
(A) Fog

(B) Paint

(C) Jellies

(D) Milk

On the basis of Hardy-Schulze rule, which of the following ion
has highest coagulating power for positive sol?

(A) Crr (B) PO;
(©) SO¥ (D) [Fe(CN)J*
14) Find out positive charged sol:
{A) Haemoglobin (B} Metal
(C) Acid Dye stuffs (D) Sol of starch
HZE(06) New 5
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13)

16)

17)

Freundlich adsorption isotherm is given by expression:

(A ¥y =KP"
®) ¥, =K

(©) ¥ =KPS

®) ¥,=P

Zone refining method is used for purification of &
metals.

(A) Fe,Ge
(B) Cu,Si
(C) In,Ni
(D) Ge,In

Which of the following is used as depressant in froth floatation
method?

(A) ZoS
(B) NaCN
(C) CuS
(D) HCN

18) Peroxo bond is present in
(A) HS0, (B) HSO,
(€} HS0, (D) HS0,
HZE(06) New &
} d i
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19) Which of'the following compounds has square planar structure?
(A) XeF

(B) XcF
(C) XeF

(D) XeOF

20) Brown ring test is used for
(A) Br

B) cr
(C) NO;

(D) NO;

21) Cu*' aqueoussol*has _ colour
(A) Violet
(B) Blue
(C) Green
(D) Yellow

22) What is the electronic configuration of Cr?
(A) [Ar]3d°4s'
(B) [Ar]3d'4s
(C) [Ar]3d*4s°

(D} [Ar]3d*4s°

HZE(06) New 7
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23) Which of the following compounds does not show optical|  ReughWork
activity?

(A) Cis-[CoBren),]

(B) Cis-[CrCL(OX). "
(C) Cis-[Fe(NH,),(CN),]

(D) Cis-[PtCl, (en),]*!

24) Complexes [Co(NH,), SO,]Br and [Co(NH,), Br] SO, are
example of isomerism.

(A) Linkage

{B) lonisation

(C)} Coordination

(D) Solvate

25) Which ofthe following is not a chelating Ligand?
(A) NH,
(B) Oxalato
(C) EDTA

(D) Ethane-1,2-diamine

HZE(06) New 5 =
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16)

27)

28)

Predict the reactivity order of the following compounds
towards the §), reaction.

i) CH,CH,CH,CH,Br
i) CH, CH, CH (Br)CH,
iii) (CH,),CBr

(AY (i) < (i) < (ii1)

(B) (i) = (i) = (iii)

(C) (i) < (i) = (ii)

D) (i) < (i) < (i)

Which of the following reagent is used in preparation of|
haloalkanes?

@) K
(B) socy,
(C) NaNO,+HCI

D) Cull

What is the product of reaction between chloroethane and
sodium metal in dry ether?

(A) Methane
(B) Ethane

(C) Propane
(D) Butane

HZE(06) New 9

G- 511
Rough Work

(P.T.0.)




29) Reaction for preparation of alkvl iodide from alkyl chloride is

30)

31)

(A) Wurtz-Fittig reaction
{B) Finkelstein reaction
(C) Fittig reaction

{D) Swarizreaction

From which of the following organic compounds phenol can
not be prepared?

(A) Tsopropyl benzene
(B) Chloro benzene
(C) Benzene sulphonic acid

(D) Toluene

Which of the following has highest value of pKa?
{A) me-nitro phenol

(B) phenol

(C) p-nitrophenol

(D) p-cresol

32) What is the product of Riemer-Tiemann reaction?
(A) Salicylic acid (B) Salicylaldehyde
(C) Benzogumone (D) Picric acid
HZE(06) New 10
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33) Which is the best reagent for gaining good product of aldehyde|  Rough Work
from primary alcohol?

(A) PCC

(B) KMnO

(C)y CrO

k|

(D) Heating with Cuat 573k

34) Oulofthe following compounds, which compound gives aldol
condensation?

(A) Methanal
(B) Benzaldehyde

(C) 2-methyl pentanal
(D) 2.2- dimethyl butanal

35) What is the correct increasing order of acidity among the
following?

(A) NO,CH,CH,COOH <CH,CH,COOH<
FCH,CH,COOH < CICH,CH,COOH

(B) FCH,CH,COOH <CICH,CH,COOH<
NO,CH,CH,COOH < CH,CH,COOH

(C) NO,CH,CH,COOH <FCH,CH,COOH<
CICH,CH,COOH <CH,CH,COOH

(D) CH,CH,COOH <CICH,CH,COOH<
FCH,CH,COOH <NO,CH,CH,COOH

HZE{06) New 11 (P.T.0.)
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36) Which of the following compounds does not give lodoform | Rough Work
test?

(A) Methyl alcohol
(B) Acetophenone
(C) Acetone

(D) Isopropyl alcohol

37) Which of the following oxidising agents is used for preparation
of benzaldehyde from methy] benzene?

(A) KMnO,/H.SO,

®) crocl,

(C) CrO; HSO,

(D) K.Cr,0,/H,S0,

38) Which of the following amine compounds reacts with
Hinsherg's reagent?!

(A) CHNHCH,
(B) (CH,CH,).NCH,
(©) CHN(CH),
D) (CHYN

HZE(06) New 2




39)

40)

41)

- (C) Amidecompound

41)

When product of ammonolysis of benzyl chloride is reacted
with two moles of CH,Cl, what will be the final product?

{A) N-phenyl methanamine
(B) N,N -dimethyl phenyl methanamine
(C) Benzylamine

(D) Benzenamine

Which type of isomerism is present in iso propyl amine and
n-propyl amine?

(A) Chain (B) Functional group

(C) Position (D) Tautomerism

Which of the following compounds is used for preparation of |
one more carbon containing amine compound?

(A) Alkylhalide compound
(B) Nitro compound

(D) Nitrile compound

Which of the following sentence is true?

(A) Glucose is non reducing sugar

(B) Glycogen is example of oligosaccharide

(C) On oxidation, gluconic acid gives saccharic acid
(D) Onhydrolysis, starch gives glucose and fructose

HZE(06) New 13
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43) Which of the following is the structure of D-Glyceraldehyde?|  Rough Work

CHO CHO
(A) H—[— OH (B) HD+H
CH,OH CH.OH
(C) Both (D) None of these

44) Out of following, which property is shown by amino acids?
(A) Acidic
(B) Basic
(C) Neutral
(D) All three

45) Which of the following bases is not present in DNA?
(A) Adenine
(B) Thymine
(C) Cytosine
(D) Uracil

46) Total number of atoms present in Face Centred Cubic unit cell
are

(A) 4
(B) 3 .
(©) 2
(D) 1

HZE(06) New 14




47)

48)

49)

s0)

Which of the following is not a characteristic of crystalline
solid?

(A) Definite characteristic geometrical shape

(B) Melts at a sharp and characteristic temperature
(C) Anisotropic in nature

(D) Pseudo solids or super cooled liquids

Acompound is formed by two elements Pand Q. Atoms ofthe
element () {as anions) make CCP and those of the element P
(as cations) occupy all the octahedral voids. What is the formula
of the compound?

(A) PO (B) PQ,
(C) PQ @ FQ,

[faxial distancesa=b=c¢and axial angles o = = #90°,
then crystal system is

(A} Rhombohedral or Trigonal
(B) Cubic

{C) Hexagonal

(D} Triclinic

In which solution, solute is liquid and solvent is gas?
(A) Ethanol dissolved in water

(B) Chloroform mixed with nitrogen gas

(C) Camphor in nitrogen gas

(D) Solution of hydrogen in palladium

HZE(06) New 15
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052 (E)

(MAY, 2021)
SCIENCE STREAM

(CLASS - XII)
{New Course)

(Part - B)

Time : 2 Hours/ [Maximum Marks : 50
Instructions :

1)
2)

3)
4)
5)
6)
)

Write in a clear legible handwriting.

There are three sections in Part - B of the question paper and total 1 to 27
questions are there.

All the questions are compulsory. Internal options are given.
The numbers at right side represent the marks of the question.
Start new section on new page.

Maintain sequence.

Use of Simple Calculator and log table is allowed, if required.

SECTION-A

B Give answer of any 8 questions out of following question no. 1 to 12 as required.
{(Each question has 2 marks) [16]

1)
2)

3)
4)
3)
6)

7

8)

Explain Frankel defect with suitable examples. (Figure is not required)

Predict the products of electrolysis in each of the following:

i)  Anagqueous solution of AgNO, with silver electrodes.

i) A dilute solution of H.SO, with platinum electrodes.

Write two differences between order of reaction and molecularity.

Explain : Brownian Movement.

llustrate calcination method with equations.

Mention basicity and oxidation number of phosphorus in phosphinic acid phosphonic
acid.

Calculate the magnetic moment of a trivalent ion in aqueous solution if its atomic
number is 26,

Describe concentration of ores on the basis of magnetic property. (Figure is not
required)

HZE(06) New 16




9)

10)
11)
12)

G- 511
Write following conversion in two steps:
Phenol to salicylic acid
Explain classification of proteins on the basis of their molecular shape.
Describe Hoffmann's bromamide degradation reaction.

What happens when D-glucose is treated with HI? Explain with suitable
reaction.

SECTION-B

B Give answer of any 6 questions out of following question no. 13 to 21 as
required. (Each question has 3 marks) [18]

13)

14)

15)
16)

17)

18)

19)

20)

11)

What is packing efficiency? Calculate packing efficiency in simple cubic
lattice. (Figure is required)

Write the Nernst equation and calculate potential of the following cells at
208 k.

Mg, /Mg (0.001M) || Cu™*(0.0001M)/Cu,,
E® g = —2-36vandE’ . . =0.34v

Explain in detail: lvophilic colloids and lyophobic colloids.

Describe the preparation of potassium permanganate. How does the acidified
permanganate solution react with oxalic acid? Write the ionic equations for
the reactions.

Discuss the nature of bonding in K, [Fe(CN),] on the basis of valence bond
theory.

Write the equations for the preparation of 1-iodobutane from

i)  1-butanol ii) l-chlorobutane iii) but-1-ene

Write chemical reactions to affect the following transformations.

i) Butanal to butanoic acid

1)  Acetone to propane

iii) Benzaldehyde to m-nitro benzaldehyde

Arrange the following in increasing order of their basic strength.

) CHNH,CHNCH,), (CH)NH

i)  Aniline, p-nitro aniline, p-toluidine

ili) C,HNH,CHNHCH,, CH,CHNH,

Write the names of reagents and equations for the preparation of following
ethers by Williamson's synthesis:

i)  1-propoxy propane

ii) Ethoxy benzene

iii) 2-methoxy-2-methyl propane

HZE(06) New 17 (P.T.O0.)
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SECTION-C
B Give answer of any 4 questions out of following question no. 22 to 27 as required.
{Each question has 4 marks) [16]

22) i) 1Bgofglucose CH O, isdissolved in lkg of water in a saucepan. At what
temperature will the solution boil at 1.013 bar? K, for water is 0.52 k kg
mol™. [C=12,H=1,0=16 g mol']

i) 200 cm® of aqueous solution of a protein contains 1.26 g of the protein. The
osmotic pressure of such a solution at 300k is found to be 2.57 = 10~ bar.
Calculate the molar mass of the protein.

23) During nuclcar explosion, one of the products is *Sr with half-life of 28.1 years.
If 1 pg of ®Sr was absorbed in the bones of a newly born baby instead of calcium,
how much of it will remain after 10 vears and 60 years if it is not lost metabolically.

24) Describe Deacon’s process and electrolytic process for manufacture of chlorine.
Write chemical equation of chlorine’s reaction with
i}  Coldand dilute NaOH
ii) Hotand concentrate Na(OOH

25) Write down the TUPAC name of the following complexes and calculate their

magnetic moment.
i) K, [Co(C0,),]
i) Cs[FeCl]

26) Give the structures of A and B in the following reactions.

iy CH,CH,Br —“ﬂ"qa—;‘;%“——m

i) C,H,NO,—=F 5 A S50, B

27) Explain:
i)  Lucas test
ii} Cannizzaro reaction

SISIS)
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ufrafda = 21

(A) Torgm, Tt
(B) Wl TirEs

(C) s, g
(D) Foregm, wem

3) v T e 220V I @ 100W e 33 3 o e an 21
TFa T i imgm g

(A) 220
(B) 440
(C) 484

(D) 2200

4) e TR Q =

R

F

(A) —L‘
..

(B) BE

=]

|=

(C)

B
=

S
F

(D)

A

QIU(16) (New) 2




G -512
5)  mER wweE (step-down) Zrewr & fom T

(A) Vo>V mml <[
(B) UE:-".-’PHNIS}IT,
(€) Vo<V, mnl <,

D) V,<V,am [ > L

6) T W - T A o wE w R
(A) T

(B} wETEH
(C) T

(D) fEm

7) Fraia 9 ow e e gehm A F gEhE 8w T 9 W
HTEm 510 0T §1 7 & faega 6= = wm ) smam
Vm- g

(A} 1.7 x 10
(B} 153
(C) 1.53 = 107

(D) 170
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8) U WO 7O TEAE R W A smm wm e e TF FH
el A w e 31 i & A fem e e s adngm
ufafeaa & dam G|

(A) =7 W R
(B) smsh

(C) =

(D) 7

9) waRUrE A (optical fibre) & F % vl W TS, AT
& FEdaE __E R

(A) AwH

(B) 4 Fmm
(C) wHend
(D) # wfirw

10) e s #m & FE 30 (focal length) 0.25m 31t & &
wom D

(A) +4
(B) -4
(C) +2
D -2

11) et 5703 o1 o v Ui e 24 b F ) g = wae g |
@ wma wm 2° faeenfim 2 1 R T w27

(A) 4 min
(B) 8 min
(C} 2 min
(D) 1 min
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(D) fiFa & e safirs P 21
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fofeai & <fra 1 7 mm Erit|
(A) 1
(B) 5
€) 2
D) 02

14) aft 3 win & dra wen ofted= 6x adian , A ST TUm
witen g

(A) 24
(B) A
(C) 6A
(D) 34

15) = w0 % sveangn gm ww wEn & dem ofend Breres &
(]l

(A) & & geraies

(B) wHE@EE

(C) Faum & waaios

() =A% s
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16) T, Sfiram, ffifran S omed | 9 w9 9= 9ERA 5w
T wm & fom w21

(A} FaTH
(B) =T
(C) 7va T M F
(D) dren wwm &

17) smafam fafem ) vx fBivas sgfh & fom Fodh fe

(A) e & aeEaes g
(B) e & o 2 2
(C) e 7 v g R

(D) e & mige & s fm g

18) Freh e - wwfm fafem 6 smafs & % =1 7R
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(A) —
e

(B) h
(C) &

e
(D) b
(T h = v fmmE

:=Wﬂm-}

19) #ra f2 w wifrs ofn @fF fem ofn = oS ws R
(Planck's constant) Fem @ 7 :
(A) it d@Em
(B) whivirg s=m
(C) %A = @
(D) ool nfe= i
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20) e 0.040kg FEER W T2 A Lkovs B TR A @ % HH
sm fe-arel T m E|
(A) L.1x10™%

(B) 4.04x 10
(Cy L7%10¥
(D) 3x10®

21) | U (g) Tl % wEES T =
| (A) 9x 10"
(B) 9x 10"
() 9x 10
(D) 9x 10

22) FEEE T & e S e S E ol 3wt nfaw s K
NN

E
K=—
(A) E

(B) K=-E
(C) K=2E
(D) K=E

23) 2 vd vt i 6 | e dofl v g A T 22
(A) Wiz dufi
(B) = st
(C) wgiA el
e (D) wmw Sf

e
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25)

16)

1 (lonisation energy) = eV
(A) (.85

(B) 1.51

(Cy 13.6

(D} 3.4

o Hg 3 7/ AuT 788 = ¢

(A) wEaTiS
(B) wouzs

(C) woerE
(D) WO

ImCi=a Bg

(A) 3.7 x10%®

1 -1
—x10
(B) 3.7 E

(C) 3T x10¥

(D) 3.7 =10

QIU(16) (New) 8

F

G =512
TR R




G - 512

27) s ifEamiGen ae @ and-aTr 12 | #1 48 W e IEa e T wHE
T (activity) frewit gnft? smdier s 3 (activity) 1 21

Ly

(A) e

By =
®) -
]ﬂ
(C) 3
L
(D) 16

28) vit gffgi 99 39, B wE gmme dem S wE d E W
sftmam W= 8,75 MeVinucleon 31 365 e gegwm wa
&
(A) 238
(B) 235
(C) 56

(o 171

29) %% wdareet # g sAEEE B dEm g o g s el @
T v o, #,

(A) a,=n,

(B n = In
(C) n >»n

(D) n <<n,
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33)

o amma pon A B, #9 p-gm A, n-gm B s BeiE EE
TR

(A) -8 # g FEERA T SEA A A

(B) @ P & s s % R R A

(C) p-tm # Fre-migm, -6 § TR Al A i 3
(D) IR A

T TR AU U W F e dyee Al o el

|
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(A) -10° Ke
(B) -10°Ke?
(C) -107 K%
(D) -107 Ke*
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(A) M'L?T? A
(B) MILIT?A
(€ MLITIAY
(D) MIL*T2A-

fieft =g 0, UER 7 o, TGS # W@ IR T W FE AN
.

(A) (n+n)e
(B) (n,-nje
(€) (n,-n)e
(D) (n,+n,)e
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34) & 31 Fogn s & it 6 ot e s % &
T 13- A E 2l
(A) CO,
(B) CH,
(€C) HO
(D) 0,

35) o ot i e 3 fom faselh ot firg @ o e e
mwfgnfpmias A R
(A) st
(B) wwim
(C) 45° s == fEm d
(D) 60° = == Fwm

36) ol smm g = = = T fawarm AV g afm e 2,
ol =g == afsdn wm)

(A) q AV
(B) gq*Av
(C) q AV
(D) g AV?

a7 Tﬂﬁ@ﬁﬂﬁﬁﬁgﬂtmﬂzmﬁmhm ¢
B,

(A) F=0;7=0
{B) F=0:7=0

{C) F#0;7=0

(D) Fz0:7#0
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e F
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(B) 8.85x 107
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(D) ¥ wzm @ = 1 =g R

40) T TeTE W whw R 31 79 10 wweee zwe R e
it = e  wafm fm e § A Eee @ e v
i

(A) 10R

R

{B}'IE

(C) 100R

R

mj?[ﬁ

[ [ i i




G- 512

41) v gfve w1 uER (wif) P e St V' RO 29E | g T
= WAl w0 ot Jara AW o gied R @) #ers am g
ﬁfmpc:

PR,
v:'

{(A)

PR2
v

(B)

VIR,
F

()

YR
P]

C

()

42) #m = e A =W (emf) W= @ & fao w
Iqam g 2l

(A) Tl

(B) =rwefter
(C) uidfimidiz
(D) wtewmag
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(B) 5
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(MAY, 2021)
SCIENCE STREAM
{(CLASS - XII)
(New Course)
(Part - B)
Time : 2 Hoursf [Maximum Marks : 50
1) FeEEn S e Hif)

) wEma# Part - B AR fam § svee 1827 9w §)

1) wd fawm § e e gean = aE 3 odd s e e

4) =fed o e & ot R g

5) e fram TR o m Tl

6) Sl = T wan ffea

7) Tl ST & SR A SEEgeEl U SN a6 W 9 w1 He 8

faremr - A
m e R ouw was 1R 12 &8 el of 8wl & aft sgew e d)
(vt ww & 2 @ j0) [16]
1) Prew de v & ww wgequl A i w6 ) [2]
) v | i S W A w=q—2; TR | 121
3y Ferts 3 it Fam e om (o) Fam & ek e R 12]
4) = (Magnetisation) M =amearia =il sram g2 fordl) swem faritn o2 o 2]
wrae i fens)
5) v w | & Fraw i dww W f e 1, 3 3 woe| 12]
6) LC wiaa witdl LC g % fevt e wndiaen (differential equation) W (o)
Wil
7) ﬂguﬁaﬂaﬁhﬁﬁﬂiﬁmnﬁﬁlﬁl (2]
8) vl wAd Sl % e % fom weem Eft (focal length) mEE TR =L (2]
9) wwAe wm % ferd areite @ fEgi (Huygens principle) FemE | [2]
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7 ferfm) 13

' 14) <TTs ® e & aitem am vd=—§tmmmmﬁmmq§|
u=n—=:rmnﬁ| 13]
m

15) v gl ez e M, ue M, % Freo st f mo ) 3]
R, = 100, N, = 30
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This Question Paper comains 20 printed pages. wm Yuael 3z oz ol
(Part-A & Part - B)

il adn OMR #llzxi
S1.No. G eaidn
“54 (E) Set No. of Duoestion Paper,
(MAY, 2021) kcircle against which is to bd
SCIENCE STREAM darken in OMR sheet.
(CLASS - XII})
(New Course) 1 6
Part-A : Time : 1 Hour / Marks : 50
Part - B : Time : 2 Hours / Marks : 50
(Part - A)
Time : I Hour| IMaximum Marks : 50
Instructions ;
1} There are 50 ohjective type (M.C.0).) questions in Part - A and all questions

are compulsory.

2} The questions are serially numbered from 1 to 50 and each carries 1 mark.

3} Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for purpose in the Test Booklet
only.

6)  Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7)  Students may use a simple Calculator and log-table, if necessary.

8) Notations used in this question paper have proper meaning.

1) Oneconducting wire of length 50cm is moving perpendicular

: i 7 - Rough Waork
to uniform magnetic field of 0.2 T, with constant velocity of

10ms~'. emf induced between two ends of a wire is
Y,

(A) 0.01
(B) 0.1
(C) 1.0
(D) 10

QIU(16) (New) 1 G-512 (PT.0.)
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2) AC Generator converts energy into Rough Work
Energy.
(A) Electrical, Mechanical
(B) Light, Mechanical
(C) Mechanical, Electrical
(D) Electrical, Light

3) Alight bulb is rated at 100W for a 220V supply. The resistance
of the bulb is Ohm.

(A) 220
(B) 440
(C)y 484
(D) 2200

4) Formula of Q-factor (Quality factor) is ) =

. R
L i
R
B) &L
L
TS
wm, L
D) &

QIU(16) (New) 2
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5) Forldeal step down transformer, Rough Work
(A) V.>V,and I; <1,

B) V,>V,and I, > 1,

(C) V,<V,and [, <I,

(D) V,<V,and I > I,

6) waves are sometimes referred to as heat waves.
(A) Infrared
(B) Ultraviolet
(C) CGamma

(D) Radio

7)  The amplitude of the magnetic field of electromagnetic wave
is 510 nT, then amplitude of the electric field of this wave is
Vm.

(A) 1.7%10*
(B) 153
(C) 1.53 = 107

(D) 170

QIU(16) (New) 3 (PT.0.)
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8) Lowerhalfofthe concave mimror's reflecting surface 1s covered | Rough Work
with an opaque (non-reflective) material. The intensity of the
image of an object placed in front of the mirror becomes

&

(A) One fourth
(B) Half

(C)} Fourtimes
(D) Double

9)  The refractive index of the material of the core in an optical
fibre is that of the cladding.

(A) lessthan
(B) halfto

(C) equalto
(D) higher than

10) Ifthe focal length of converging lens is 0.23m then power of
this lens is dioptre.

(A) +4
(B) —4
(©) +2
D) -2

11} The earth takes 24 h to rotate once about its axis. How much
time does the sun take to shift by 2° when viewed from the
earth?

{A) 4min
(B) 8min
(C) 2min
(D) | min

QIU(16) (New) 4
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12) In Young's double slit experiment, as the width of the source Rough Work
slit is increased,
(A) There is no effect on interference fringe pattern
(B) Interference fringe pattern gets more and more sharp
(C) Interference fringe pattern gets less and less sharp

(D) Intensity of interference fringe pattern increases

13) Inatwoslit experiment, screen is placed one meter away. When
light of wavelength 500nm is used the fringe separation is
0. 5mm. The distance between two slit is mm.

(A) 1
(B) 3
(€ 2
(D) 0.2

14) If the phase difference between two waves is 6 radian, then
corresponding path difference is

(A) 24
(B) %
(C) 61
(D) 3A

15) Intensity of aresultant wave obtained by superposition of two
waves is amplitude of resultant wave.

(A) directly proportional to square of

(B} directly proportional to

(C) directly proportional to cube of

(D) directly proportional to square root of

QIU(16) (New) 5 (P.T.0.)




16)

17)

18)

19)

Electron emission from metals like zinc, cadmium, magnesium
responded only to light.

(A) Infrarcd
(B) Ultraviolet
(C) WVisible
(D) Yellow

For a given frequency of incident radiation, stopping potential

(A) is directly proportional to intensity

(B) is inversely proportional to intensity

(C) does not depend on intensity

(D) is inversely proportional to square of intensity

The slope of a graph of stopping potential versus frequency of
incident radiation is

FERE
A =

(B) h.
(C) e

i
D) +

(where h = Planck's constant and e = charge of an electron)

Which of the following physical quantity is having same unit
as Planck's constant?

(A) Linear momentum

(B) Angular momentum

(C) Moment of Inertia

(I3} Rotational kinetic energy

QIU(16) (New) 6

G -512
Rough Work




N

20)

21)

22)

13)

De- Broglic wavelength of a bullet of mass 0.040kg travelling
at the speed of 1km/s is m.

(A) 1.1x10%
(B) 4.04 = 10-*
(C) 1.7x=10%
(D) 3 =102

The energy equivalent to 1gram (g) substance is 1.
(A) 9=10°
(B) 9x10"
(C) 9=107
(D) 9= 108

Total energy and kinetic energy of an electron in hydrogen atom
are E and K respectively then,

E
(A) 5

(B) K=-E
(C) K=2E
M K=E

Which of the following series is not seen in Infra-red region
for hydrogen spectrum?

(A) Bracket
(B) Piund
(C) Lyman
(D} Paschen

QIU(16) (New) 7
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24) lonisation energy of an electron in third excited state for
hydrogen atom is eV

(A) 0.85
(B) 1.51
(C) 13.6

(D) 3.4

25) Hgand & Auare examples of
{A) lsobars
(B) Isomers
(C) Isotopes

(D) Isotones

26) 1mCi= Bg

(A) 3.7 100

=
e i
B) 5%

(C) 3.7 =10°

(D) 3.7x= 107

QIU{16) (New) 8
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27) Halflife of certain radioactive clement is 12 years. If its initial Rough Wark
activity is |, what is it’s activity afier 48 years?

L,

{AJIE

+ |a—

(B)

(c)

o |2

I,
(D} 16

28) Inacurve of binding energy per nucleon versus mass number
(A}, the maximum value of E_ is 8.75MeV/nucleon the value
of corresponding atomic mass number 15

(A) 238
(B) 235
(C) 56
M) 171

29) [Inintrinsic semi conductor, the number density of free electron
is n_and the number density of holes is n, then

(A) n=n
®) n,=2n,
(C) n>>n

(D) n <<n,

QIU(16) (New) 9 (PT.0.)
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1)

31)

33)

Inan unbiased p-n junction, holes diffuse from the p-region to
n-region because,

(A) Free clectrons in the n-region attract them
(B) They move across the junction by the potential difference

(C) Hole concentration in p-region is more as compared to
n-region

(D) All the above

Electric force between electron and proton separated by a

|
distance of | mm is, F_= N. |:K=m}
(A) -10°Ke
B) —-10°Ke
(€ -10°K?
(D) -10°Ke®

Dimension of electric-Flux is
(A) M'LPT AT
(B) MIL'T?AZ
(C) M'LPTPA
(D) M'L’T2A"

If a body contains n, protons and n. electrons the total amount
of charge on the body is :

(A) (n,+n)e
(B) (n,—n)e
(C) (n,—n)e
(D) (n,+n)e?

QIU(16) (New) 10
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34) From which of the following molecules given below have a | Rough Wark

permanent electric dipole moment, even in the absence of an
electric field?

(A) €O,
(B) CH,

(C) HO
(D) O,

35) For any charge configuration equipotential surface through a
point is to the electric field at that point.

(A) Normal
(B) Parallel
(C) Inadirection making an angle of 45°
(D) Inadirection making an angle of 60°

36) A particle having charge *q" is accelerated by a potential
difference AV, it would gain energy of

(A) q AV

(B) g'AV
(C) g av*

(D) qAV:

37) Resultant force and resultant torque acting on a electric dipole
kept in a uniform electric field are F and 7 then;

(A) F=0;f=
B) F=
(C) F=

(D) F=0:7=0

QIU(16) (New) 11 (PT.0.)



38)

19)

40)

In a parallel plate capacitor, area of each plate A = Im*® and the
distance between two plates d = Imm, then capacitance of a
capacitor C = A

(A) 8.85=10°
(B) 2.85=107
(C) B.85 =10

(D) B.85 x 107

According to Ohm’s law, Electric current (1), passing through
the conductor is increasing in such a way that dimension of
conductor and temperature remains constant, then Resistance
of conductor (R)

{A) [Increases
(B) Decreases
(C) Remains constant

(D) Initially decreases then after increases

Resistance of conducting wire is ‘R’ it is divided into 10 equal
parts. Now, All these parts are connected in parallel. Effective
resistance of the connection is ;

(A) 10R
R

(B) 10

(Cy 100R

R
®) Too

QIL(16) (New) 12
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41) The device having power ‘P’ and voltage *V'. The connecting
wires from the power station to the device has a finite resistance
R.. The power dissipated in the connecting wires

-

v
il -

42) is used to measure electromotive force (emf) of

a cell.

(A) Ammeter

(B) Voltmeter

(C) Potentiometer
(D) Wheatstone bridge

43) Dimension of mobility (1) is

(A) MIL3T=A"
(B) M'L*T?A?
(C) MILATHA

(D) MILATIAS

QIU(16) (New) 13
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44) There is a coil of 100 turns having radius 10cm and carryinga | Rough Work
current of 1A, The magnitude of magnetic field at the centre
of a coil 18 T.

(A) =10~

B) Sx10°

(C) 2Zm > 107

(D) 4n= 10

45) A solenoid of length 0.5m has a radius of lem and is made up
of 500 turns. If the magnitude of magnetic field inside the
solenoid is 6.28 = 107 T then it carries a current of

A,
(A) 2
(B) 5
{C) 4
(o 10
46) Parallelcurrents _ andantiparalle]l currents
{A) attract, repel

: (B) repel, attract
(C) artract, attract
(D) repel, repel
QIU(16) (New) 14
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47) In the magnetic mendian of a ceriain place, the horizontal Rough Work
component of the earth’s magnetic field is 0266 and the
magnetic field of the carth at this location is 0.52G. Then the
dip angle 13

(A) 30°
(B) 45°
(C) 60°
(D) 90°

48) According to Gauss’s law for magnetism, the net magm:uc flux
through any closed surface is

(A) Zero

(B) Infinite
(C) Equaltog,
(D) Equaltop,

49) The materials, which are used to make permanent magnets
retentivity and coercivity.

(A} low, high
(B) low, very low
(C) high, very low
(D) high, high

50) Unit of Induced emf is
(A) Weber/Second
(B) WVolt/Second
(C) Tesla

(D) Henry

QIU(16) (New) 15 (P.T.0.)
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054 (E)
(MAY, 2021)
SCIENCE STREAM

{(CLASS - XII)
{New Course)

Time : 2 Hours]

(Part - B)

Instructions :

1)
2)

3)

4)
5)
6)
7)

Write in a clear legible handwriting.

[Maximum Marks : 50

There are three sections in Part - B of the question paper and total 1 to 27

questions are there.

Separate instruction is given in each section. Read it carefully and answer

accordingly.

The numbers at right side represent the marks of the question.
Start new section on new page.

Maintain sequence.

Students may use a simple Calculator and log-table, if necessary.

SECTION-A

B Answer any eight questions from the following question No. 1 to 12. (2 marks each) [16]

1)

Z)

3)
43
5)

6)

7)
8)

9)
10}

Write any four properties of electric field lines.

2
Obtain the equation of energy stored in capacitor, W=*§—C

Write only statements of Kirchhoff's Junction rule and loop rule.

Define magnetisation, Write its formula. Also write its unit and dimension.

Write Lenz’s law. Explain in brief that it is a specific statement of law of
conservation of energy.

By Drawing LC circuit diagram, obtain the differcntial equation for LC
oscillations.

Write four characteristics of Electromagnetic waves.

Obtain the equation of effective focal length for combination of thin lenses
In contact.

Explain Huygens principle for plane wavefront.

The photoelectric cut-off voltage in a certain experiment is 1.5V. What is the
maximum kinetic energy of photoelectrons emitted?

QIU(16) (New) 16
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11) Write two postulates of Bohr's theory, |2]

12) Suppose a pure Si crystal has 5 x 10® atoms m™. It is doped by 1ppm
concentration of pentavalent As. Calculate the number of electrons and holes.
Given that, n, =1.5 x 10"m"., 2]
SECTION-B
®  Answer any six questions from the following question No. 13to 21. (3marks each) [18]

13) Twocharges 3 » 107* C and -2 x107*C are located 15cm apart. At what point
on the line joining the two charges is the electric potential zero? Take the
potential at infinity to be zero, [3]

14} Drift velocity of an electron passing through conductor is given by equation,

eE
v, =_E1 . By accepting this equation obtain the equation of conductivity,

2

o=—r, 3]
m
15) The moving coil meters, M, and M., have the following particulars : 3]
R,=10Q, N, =30
A =36x10"m’, B, =0.25T
R,=14Q,N, =42

A =18x10"m’, B,=0.50T
(The spring constants are identical for the two meters)
Determine the ratio of
a)  Curmrent sensitivity and
b)  Voltage sensitivity of M, and M,
16) Show thatin the free oscillations of an LC circuit, the sum of energies stored
in the capacitor and the inductor is constant in ime. 3]

17) A beam of light converges at a point P. Now lens is placed in the path of the  |3]
convergent beam 12em from P. At what point does the beam converge if the
lens is
a)  aconvex lens of focal length 20cm and
b} aconcave lens of focal length 16cm?

18) In adouble-slit experiment the angular width of a fringe is found to be 0,27
on a screen placed 1m away. The wavelength of light used is 600nm. What
will be the angular width of the fringe if the entire experiment apparatus is

4
immersed in water? Take refractive index of water to be 3 13]

QIU(16) (New) 17 (PT.0)
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1%) It is found experimentally that 13.6 eV energy is required to separate a
hiydrogen atom into a proton and an electron. Compute the orbital radius and
the velocity of the electron in a hydrogen atom.

40} How long can an electric lamp of 100W be kept glowing by fusion of 2kg of
deuterium? Take the fusion reaction as

"H+ H—He+n+3.27MeV.

21} Explain Half wave rectifier with necessary circuit diagram. Draw the graphs
of Input and Output voltage versus time.

SECTION-C

Answer any four questions from the following question No. 22 to 27. (Each
question carries 4 marks)

22) For Electric dipole,
a)  Atany point on the axis
b)  Atany point on the equatorial plane
obtain the equations of an electric field.

23} Obiain the equation of magnetic field on the axis of a circular current loop at
a distance ‘x” from the centre of the loop. Also, write the equation of magnetic
field at the centre of the loop.

44) Discuss AC voltage applied to a capacitor in details. Also obtain an equation
of instantaneous power supplied to the capacitor.

15) Incase ofatriangular glass prism, obtain =1 + e —A. Mention the condition
of minimum deviation angle and obtain the equation of refractive index of
the material of prism.

i6)  For diffraction by a single slit obtain the conditions of maxima and minima
in terms of path difference.

17) Forradioactive decay, obtain Expnnen:ial law. Draw the graph of number of
undecaved nuclei versus time.

LV
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wiEH - A wHem - B
i) | R e p | ufede voes
if) | TR e Q | i =g
iii) | =i v R | weemEhem
iv) | A ufaE § | wefaem TEm

(A) (i-5), (ii - P, (iii - Q). (iv - R)
(B) (i-R), (i - Q), (iii - P), {iv - 8)
(C) (1= (- R), (iti - 8, (iv = P)
(D) (i=P), (i - Q). (iii - 8), (iv - R)

20)) = & Ieaea & Bm Fe m St e )
(A) TR
(B) A
(C) P
(D) i S

21) UfrSt A gewm Ream 8 smm @ e fes 2
(A) W (TR )
(H) = o (Feues)
(C) wn (Fe=)
(D) FAereea

12) @A v wfE e gue s ageen )

{A) =mET= (R} HIND
(C) OFfrgnm (D) HIND-I
FZRL{DG) (New) 5
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23) guwpA # U U EE L B ST T R
(A} R Y
(B) efirfeam wommee
(C)  eiifzam amrse
(D) weriiees Fms

24) == i ofeen gm € W U F T Wy W gt e § w6
T #

(A} ®uvm
(B) ZFFA
(C)  Frafmes
(D) ZrEEERT

25) s =i fd # om fem mm g
(A) FETA
(B) o=
(C) ==t
(1) oo aww (i)

26) drge vfEnh den & Fwmin d = & ofen o §)
(A) DIN.A. simaEm
(B) Wi s
(C) IS HmE
(D) RN.A. s
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17) @ e afe Fgiee d T O e R mm: &
(A) B -O2EE
(B) A -UEE
(C) C-9zme
(D) AR =Y

18) Tz faa fagra m o w R
(A) ofrem-afei areafer e
(B} T TmarETEe
(C) Ttttz DNA 2Tt
(D) wiFfmm wd foees

29) T & Fae § S i wEe S8R = 3 Ee gl
(A) w=E - | Redm
(B) s - | TR
(Cy = - | wfrade
(D) - | FwE

30) ;ﬁm{ﬁﬁﬂm}ﬁﬂﬂmﬁﬂﬁm ifiar vy £ v
|

(A) FeifEm-B
(B) Fehm-K
(C) Faritm - E
(D) Fahm-u(A)

LZRL{0G) (New) 7 (RT.0.)




3 A gl 4 0 Ay wm B =

-

=TT

&l 1bd §Si  s0g BN BOD  3n0 400 480

(A) X = o e Y =y =
(B) X=7mzh=yy=-vgmm
(C) X =i 3= Y= vipud ==
(D) X =vyepurdl 77 Y=o =m

32) =g | s WA o wE F e E o e i e
o T W A TE W

(A) ATTETE T e
(B) ool st wm
(C) wmTh Hei e
(1)) v oo Eerf sy

33) o e il fem e & e e e 7
(A) o waon
(B} C3owy
(C) Cium
(D) C3amC4 2oy
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34) ‘v Fram R mifm a3
(A)  wFErwg T
(B) sfirr o w7 = ae ooh
(C) et oz o 7 = awh
(D) 2wt Forarg = wad oo

35) Pgr-ve witaters afz @ wf wiem 2 -

(A) dN/di=(h-d)x N

(B} N /dr =r.-'lr’|f = KN ]
o

() dN L eft = |I.__l-.n,-[ K ;N !

(D) dN/dr=(d-byxN

36} e arsiifam femit Framd & # 2
(A) Twagsr (B) gsft

(C) =i (D) vy

37) ﬁmhhmmqﬁﬂﬁmththm

i #

(A) it Sl
(B ufiras Fafen
(C) anFres defm
(D) swfiam Safiem

ZRL(DG6) (New) )
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38) ¥ETR T e & ATGEUSS WA o ST T W
T FYE g TEE w5 2
(A) 20% (B) 25%
(C) 40% (D) 10%

19) ad‘mﬁﬂummﬁmﬂmaﬁﬁﬂhmi’mﬂﬂmmmmﬁm

MY e Fra AT (AT ) e g

(A) wFE (@) =

(C) W (D) faee
41) VR TR e T A 27

(A) Tamfora (2n) (B) 3o (n)

() Tmgitm (3n) (D) %

42) @R e g W S
(A) E® (B) |

(C) = (D)

ZRL(DG) (New) 10




43) et A draie w fead v g g " T
(A) A
(B) &=
(C) wm
(D) v

) ........ o e, A i

A8 ARTET UETiiETE )
(A) wdFEm (Parthenium)
(B) =men (Common Pansy)
(€} 3md (Oxalis)
(D) et ( Water Hyacinth)

46) JIERTUFER o U Y v W A g v §

LRL{06) (New) 11 (RT.0.)




47) AW THT (FEEW) O ym Ffra w0 A

48)

49)

50)

A R o wER AR A A TE A A L
v s w9 8 T T e fan A i
wafiia =14 11

(A) 60% 3R 40%
(B) 70% 307 30%
(C) 40% 3 60%

(D) 50% 3 50%

..... ... v % T AT s )
(A) E.TH:

(B) hCG

(C) A

(D) ES.H.

i i ““afrm B wwiwEn & ypem E A, L A E
(A) 1941
(B) 1951
(C) 1961
(D) 1971

st wan § Freil o el e A wE W & =
1 arafi i Fm fyE @ T R

(A} 12919 (B} 10w 17

(Cy 349 (D) 11718
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056 (H)

(MAY, 2021)
SCIENCE STREAM
(CLASS-XII)
(New Course)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
quad
1) wraEms e faf)
2) wEmEE Part-BAfAfmisnem 1827 o §)

3)
4)
3]
o)

wil W i §) s e A m g
Al 30 e & 9 fad o #)

7 T 7@ ue w e

T = AT wEET i

Bram- A

n Pefafem 1iuwﬂﬂﬂﬁwﬂsﬂimmlmmtzﬁtl [16]

1)
2)
3}
4)
5)
6}
7
8)
%)
1)

11]
13)

wfem fewi fafam - g

T 2 W B T W

aftam s i s ol

AEWHTIEA — A

2wt DNA &t wran 6 =i it i s Fare Ferfan
v aiy i vam fafn (srsf swaws )
AAFEY ~ HEwita |

afafaam ¥ 9 9t vww fefam

ARz — it 1my

U 0] W i v & 6 A W o wam 3| w9y fer-fam sl @
HAFE YT FAA

Wi 3R A e w e i) (@ o )
wHEE -

ZRL(D6) (New) 13 (P.T.00.)
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ffwm - B

m Pt 138 21 wE § @ R 6wl & aw dftm v w3 e (18]
13) e s e 6 e @ e
14) Freramm i ufEmaimemn wREE|
15) amEri TR A gl @ e )
16) Feeanft ferfiem — simemd)
17) Srafaf i afven i S e TEEIEn| (AR HEE B
\8) i R A s wwE = A S

19 v H 3T AR T A AEEs

20) mﬁ@mm.gﬁm,mﬁmmﬂ#uﬁiﬁmmm
Tt

21) st o (DNA) 0 gumem 1a s S|
forem - C
= Hnm::ﬁ11ﬁiﬂﬁ4mtmmlmhmt4 3w R [16]

32) YA T EEE (HTER v i)
13} T WA ST A T AT A A0 i
24) Fofru & smain fage = wam fafe)
15) P C R o T99m w7 T0 FTEN W T we ( T AT 21)
16) TR HyeE W S e 6 afEm @ avis i)
27) o mvia i — R i g
o0
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Fhiv (hiestivn f':ql:u:r: cantains 16 printed poages. s et 312 rivin el
(Pari - A & Part - Bj

SLNo.

(CLASS - XII)
{New Course) O 6
Part=A : Time : | Hour /! Marks : 50

Part - B : Time * 2 Hours f Marks : 50

Ut adn OMR allesd

056(E} Hg 534l 38 9,

Sei No. of Question Paper,
(MAY, 2021) circle againsi which is 1o bej

SCIENCESTREAM darken in OMR shect.

(Part - A)
Time : I Hourf IMaximum Marks : 50
Instructions :
1} There are 50 ohjective type (M.C.().) questions in Part - A and all guestions

2]
3

4)

5)

6

are compulsory.

The guestions are serially numbered from 1 to 50 and each carries 1 mark.
Read each question carefully, select proper alternative and answer in the
O.MLR. sheet.

The OMR sheet is given for answering the guestions. The answer of each
guestion is represented by (A) O, (B) O, (C) O, (D)} O, Darken the
circle g of the correct answer with ball-pen.

Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

Set No, of Question Paper printed on the upper-most right side of the Question
Paper is 1o be written in the column provided in the OMR sheet.

1)

used to be very effective as emergency Hough Woark

coniraceptive.

{A) Natwral methods

(B) Vaults

{(C) Condoms

(D) Progestogen - estrogen combination

Chlamydiasis is discase.
{A) 1UDs

(B) PID

{C) STIs

(D) MTP

ZRL{0G) (New) i G-513 (ET.0.)
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3) Transfer of an ovam collected from a donar into the Rough Wark
fallopian tube 15 known as

(A) GIFT
(B) Al
Cy ZIFT
(D) ET

4)  The alleles live together withoul showing any blending is
Known as

(A} Chromosomal Theory
{B) Law of Segregation
{C) Law of Dominance
(D) Co-dominance

5) The genes responsible for skin colour shows what?
iA) Co-dominance
(B} Linkage
(C) Polygenic inhentance
(D Pleiotropy

6) Mendel dihybrid ratio is
(A) B:3:3:4

(BY 3:9:1:3
(Cy 9:3:3:1
(D) 1:3:3:9

71 S-Methyl uracil 15
(A} Uracil
(B) Cylosing
{C) Adenineg
(D) Thymine

LZRL{DG) (New)
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8) The length of DNA in E. Coli is Rough Work
{A) 2Z2m

(B} 1.36 mm
{C) 1.Em

(D) 1.34 mm

9)  The unequivocal proof that DNA 1s the genetic matenal is
given by whom?

(A) Alfred-Hershey and Martha Chase
iBY Watson and Crick

(C) Colin MacLeod and Maclyn-MoCarty
(D) Mathew Meselson and Franklin Stahl

10} In haploid content of human DNA base pair 1s
observed.

(A) 9.6 x 10°
(B) 4.6 10¢
(C) 6.6% 10°
(D) 3.3 %100

11) The coding sequences of genes 15 known as
(A) Exons
(B} Introns

(C)  Promotor
(D) Regulator

12) Pneumonia and common cold are  dizease,
(A) Water induced
(B} Food induced
(Cy  Air induced
(D} Insect induced

ZRL{0G) (New)
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13) is the example of auto-immune discase. Rough Work
(A} AIDS
(B) Malaria
(C)} Cancer
(D) Rheumatond Arthrins

14} After getting into the bady of the person, HIV enters nto

(A) Macrophages
{B) Epithalial cells
(C) Muscle cells
(D} Neurons

15) fish eats mosquito larvae.
(A} Gambusia
(B) Parameha
{C) Tiger Fish

(D) Silver Fish

16) Which microbes are used for production of curd from milk?
(A) Lactic acid bacterin
(B) Proponic bacterium

(C)} Saccharomyces cerevisiae
(D) Stephalococcus bacteria

17) Traditional drink Toddy' is made by Which plant?
(A) Dates
(B) Palms
(C) Coconuis

(D} Mango

LRLID6) (New) 4
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18) The puffed-up appearance of idli and dosa's dough is due Rough Waork
to production of which gas?
(A) O, gas
(B) N, gas
(C) CO,gas
(D) H, gas

19} Maich the following and choose the comrect option

A B

1 Citric acid Acciobacter acen

i) | Acectic acid Clostndium butylicum

ii}| Butyric acid Lacto bacillus

i 'm0 o

iv) | Lactic acid

Aspergillus niger
(A} (i-5)(u-P)(m-Q)Gv-R)
(BY G- R),(i-Q) (i -F), (v - §)
{C) (i- Q) (- R), (i1 - 8), (iv-P)
(D) (i-P)(ii - Q) (iii - 8), (iv-R)

20) Which bacteria are responsible for production of Biogas?
iA) Rhizebium
{B) Aceiobacter
{C) Lactobacillus
(D) Methanogens

21) The useful insect to get rid of aphids is
(A} House fy
(B) Dragon fly
{C) Lady bird
(D} Cockroach

L

LRL{0G) (New) (P.T.0.)
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22} Which first restriction endonuclease was isolated and Rough Wark
characterised?

{A) Ligase
{B) Hind-Il
(C) Palindromase

(D) Hind-1

23) The separated DNA fragments arc stained by
(A) Lischmen blue
(B) Ethidium chloride
(C) Ethidium bromide
(D) Fordivm bromide

24) The procedure through which a piece of DNA is introduced
it host bacterium.

(A} Transformation
{B) Translation

{C) Transcription

(D) Translocation

28) Agurose is extracted from
(A) Moss
(B} Fungi
(C) Bactena
(D)} Sea weeds

LZRL(06) (New) 6
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26) Which process is useful in pest resistant plant? Rough Work
(A) DNA interference
(B) Protein imterference

(C) Enzyme interference

(D} RNA interference

27) Which peptide is not present in the mature insulin?
(A} B peptide
(B) A peptide
(C) C peptide
(D} Glycosidic bond

28) ELISA is based on which principle
{A} Anligen - antibody interaction
(B) Gel Electrophoresis
{C) Recombinant DNA technology
(D} Polymerase Chain Reaction

29} The human protein used for treatment of Emphysema
{A) -1 -trypsin
(B) @~ 1 - antitrypsin
(C) P-1 - antitrypsin
(D} f-1-trypsin

30) Which vitamin is more in Golden rice?
{A) Vitamin- B
(B) Vitamun - K
(Cy Vitamin - E
(D) Vitamin - A

ZRL(06) (New) 7 (PT.0))
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31) What do X' and "Y' indicate in the given figure? Rough Wark

30 o0 i@ 06§30 200 350 400 480

(A) X =Grass land, ¥ = Temperate Forest
(B) X = Tropical Forest, Y = Temperate Forest
(C) X = Temperate Forest, Y = Coniferous Forest

() X =Contferous Forest, Y = Grass land

32) Many freshwater animals cannol live for long in a sea water
and vice versa because of

(A} Thermal problem

{B) Osmotic problem

{C) Photo problem

(D) Ulra Violet light related problem

33) Which special photosynthetic pathway is observed in many
desert plants?

(A) CAM pathway

(B) C3 pathway

(C} C4 pathway

(D) €3 and C4 both pathway

ZRL{DO) (New) ]
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36}

37

Allen’s Rule is applicable in which animals®
(A) Mammals from desert

(B} Mammals from high altitude

(C) Mammals from deep sea

(D) Mammals from colder climates

The correct equation of Verhulst - Pearl Logistic Growth is -

N
A —(h=d)xN
(&) = { )%

ah K
(B) ——=tN[——

gt K—-N

aN_ [K-N
© ==

N
(D ——.[ﬂ' —b)x N
dt

Where does the Brood Parasitism is observed?
(A} Amphibians

(B) Birds

{C) Reptiles

(DY Fishes

Which catfish is posing a threat to the indigenous catfishes
in our rivers?

{A) Europian catfish
(B) Asian catfish
(C} African catfish
(D) American catfish

ZRL{06) (New) 9
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39)

40}

41)

42)

Amazon forest is estimated to produce, % of total
oxygen in the earth’s atmosphere through photosynthesis

(A) 20%
{(B) 25%
(C) 40%
() 10%

Medicinal plant Rauwolfia vomitoria produce which
chemical]

(A) Dopamine

(B} Serotonin

(C) Ethylenc

(D) Reserpine

living organisms shows parthenogenesis,
(A) Human
{B) Monkey
(C) Honey bee
(D) Cat

Monera organisms have ______ plant body.
(A) 2nm

(B) m

(C) 3n

D) =
L

In which animal oestrus cycle is observed?
{A) Ra

By Birds

iC} Human

(D} Hen

ZRL{0G) (New) 10
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43) In plants ovule 15 changed mto which form?

(A)
(B)
(C)
(1)

44)
(A)
(B)
(C)
(x)

45)
(A)
(B)
(C)

(D)

(A)
(B)

()

In fruit
In seed

In embryo

In endosperm

in pollen grains are long and ribbon like.
Hibiscus
Vallisneris
Commelina

Scagrasses

Pollen grains causes allergy.
Parthenium
Commaon Pansy
Oxalis

Water hyacinth

46) Adter spermiogenesis. sperm head is embedded in .

Corpus loteum
Interstitial cells

Levdig cells

(I} Senoli cells

LZRL(06) (New)

G-513
Rumsgh Wark

(PT.0)




47) For normal fertility, at least sperms must have
normal shape and size and atleast of them must
show vigorous motility

(A) 605 and 40%
(B) 70% and 30%
(C) 40% and 60
(D) 50% and 50%

48) hormone is associated with parturition.

(A) LTH
B) hC.G
(C) Oxytocin
(D) FSH

49) In India "family planning’ programmes were initiated in

(A) 1941
(B) 1951
(C) 1961
(D) 1971

50) In Periodic abstinence the couple should avoid from coitus
from day of the menstrual cycle.

(A) 121019
(B) 10w l17
(C) 3109

(D) 11w l8

ZRL{0G) (New) 12
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056(E)

(MAY, 2021)
SCIENCE STREAM
(CLASS - XII)
(New Course)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
structi
1) Write in a clear legible handwriting.
Z)  There are three sections in Part - B of the question paper and total 1 to 27
questions are there.
3} All the guestions are compulsory. Internal options are given.
4)  The numbers at right side represent the marks of the question.
5)  Start new section on new page,
6) Maintain sequence,

ECTION - A

B Answer any 8 questions from the following question No 1 to 12, Each question

carry 2 marks. |16]
1} Write in short - Zygote.

2)  Explain any two types of pollination.

3 Write the barrier methods of family planning,

4)  Explain - Pleiotropy.

S} Give any three salient features of the double - helix structure of DNA.
6)  Write the structure of mammary gland. (diagram is not required)

7)  Explain commensalism.

B)  Write any iwo types of Bindiversity.

9)  Explain disease pneumonia.

10)  What criteria should be fulfill, so a molecule can act as a genetic material?
11) Uses of Microbes in household products {any two)

12) Explain Over-exploitation,

ZRL(06) (New) 13 (P.T.0.)




SECTION-B

B Answer any 6 guestions from the following question No. 13 to 21. Each
question carry 3 marks. [18]

13)
14)
15)
16)
17)
18)
19)

20

21)

Write any six main features of genetic code,

Explain Vaccination and Immunisation,

Role of microbes in production of biogas.

Explain - Gene therapy.

Describe the species - Area relations. {Diagram is must)
Explain any two ecologically relevant abiotic factors.
Explain a sexual reproduction with examples animals,

Give the name and characters of the disease caused by Antamoeba
histolytica. Trichophyton and wuchereria in human,

Explain separation and isolation of the Genetic material (BNA).

SE -C

®  Answer any 4 questions from the following guestion No. 22 to 27. Each
question carry 4 marks. |16]

22)
23)
24)
25)
26)

7)

Explain the process of spermatogenesis. (diagram is not required)
Explain the inheritance of one gene by Punnett square,

Write the experiment of Grffih's transforming principle.

Explain the amplification of Gene of interes! using PCR. (diagram 1s must)
Describe the process of translation during protein synthesis,

Explain exponential growth.

Fom Pom e
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